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sREus MAw IerauE va gferor aRye, W= (RE0s)
JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI (JHARKHAND)

9YH drafds qiiar (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)

gfagel wesT 9T #e-01
Model Question Paper SET-01

FaTT-12 fyg- Sramere ¥HT- 1 wer 30 fAete qUITH-40
e fAder-

> Y e fAart § 1

It is mandatory to answer all the questions.
> wedl T FT AT 40 ¥ |
The total number of questions is 40.
> UeE e & faw 1 3w Fuifa &1
Each question carries 1 mark.
> U AF N & fav ax fFed Ru av §1 598 ¥ v 7 [ewew &1 a7 ffFw |
Each question is provided with 4 options. Choose the correct option.
> Idd 3 & AT FIE e A FIE FATCA |

There will be no negative marking for any wrong answer.

1. msiaﬁ H’H?ﬁ?lT & d&hdr %’(Partnership agreement can be)
(a) Hif@= (Oral)
(b) faf@ (written)
(c) Aifs ar m?l'(Oral or Written)
(d) s?lﬁ' ) H-ﬂé’ FI'eﬁ(None of these)

2. eI A=Al & HTE H 1 gy &1 st fFAT ST 8 (In the absence of

partnership deed profits and losses are shared)
(a) SRTEX- SEX (Equally)

(b) ﬁ‘\Gﬁ* T # (In the ratio of capitals)
(c) @Hslla & THIT (As per agreement)

(d) 38 & T (All of these)

3. FElEHl oW & IHTT #H AEIER & JAWFR €T 7 (In the absence of partnership deed,

partners are not entitled to receive)

(a) ddeT (Salaries)

(b) FHAT (Commission)

(c) ‘1‘\\_!& qY &GTal (Interest on capital)
(d) 39T T (All of these)
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4, W grdr a1 FlTaTG'Iﬁ' AT @TdT %(Revaluation account or Profit and Loss

adjustment account is)
(a) =FfFdeTd @TdT (Personal Account)

(b) SITHHATA T WTdT (Nominal Account)
(c) arFafd® @TdT (Real Account)
(d) 377 ¥ E ST (None of these)

5. TAATT HIBIEGRT & o8- g1 HeJard H qRads & gar %(Change in profit sharing ratio of

existing partner results in)

(a) B &1 gaﬁyam (Revaluation of the firm)
(b) BH FT W(Reconstitution of the firm)
(c) W ST FATYS (Dissolution of the firm)

(d) EFF# ) H-ﬂ%‘ Fl'eﬁ(None of these)

6. AB,CHRD A FIT I TR - R F(ed §T AHEK &1 3¢l Y=t ame- fomvorer
3e[aTd I 2:2:1: 1 & gRafda T AT ¢ fFd«T T FFM? (A, B, Cand D are partners

sharing their profits and losses equally. They change their profit sharing ratio to 2:2:1:1. How
much will C sacrifice)

(a) 1/6

(b) 1/12

(c) 1/24

(d) Sﬂﬁ'@‘ FIS 8T (None of these)

7. 919 qEaw # wafa & @ AR wwifa @rar @ven s @ R @ @ 3fe fem smeen

(When there is no goodwill account in the books and Goodwill is raised then which account will
be debited)

(a) ATSER #T ti‘\Glaf(Partner’s capital)
(b) T (Goodwill)

(c) TF3 (Cash)

(d) qag Reserve)

8. UIHATT o WX 3iAd o &1 3MFT FEATaT & (Excess of Average Profit over the Normal
Profit is called)

(a) 37T (Super profit)

(b) fifRera mer (Fixed profit)

(c) AHTATT TH (Abnormal profit)
(d) |HTHTCT TH (Normal profits)
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9. T BH & JWa @ 60,000 71 RfAAT Gt w geamr $irax 12.5% faad g
v 7 Fo ARG g6t 24,00,000 o rf@amr & 2 ast & w7 F YR W T
ghai (A firm has an average profit of ¥60,000. Rate of return on Capital employed is 12.5%. Total

capital employed in the firm was ¥4,00,000. Goodwill on the basis of 2 year’s purchase of super
profit is)

(a) ¥ 20,000

(b) ¥ 15,000

(c) ¥ 10,000

(d) 3?#@' Tﬂé’ Fl'&ﬁ' (None of these)

10. WIHER & WA W WA JoleT 99 A ATT 7T FIT EATRA FT (At the time of
admission of new partner General Reserve appearing in the old balance sheet is transferred to)
(a) T3y AEERY & q‘\Trﬁ gra A/ (All partners’ Capital A/C)
(b) TT WTEAGRKY q‘\Eﬁ i 7 (New partners’ Capital A/C)
(c) YR WEIERT & Yl WA 7 (Old partners’ Capital A/C)
(d) SFFJEI' ) ﬂ-ﬂ%‘ Fl'eﬁ(None of these)

11. 19T 3eqqred fArreT SaT 7 (Sacrifice ratio is ascertained at the time of)
(a) ATSER #T g W (Death of a partner)
(b) TH H@?{IT & 3ITHIA AGUT FIA UT (Retirement of a partner)
(c) TH HSER & 9AA 9T (Admission of a partner)
(d) s?lﬁ' ) H-ﬂé’ FI'eﬁ(None of these)

12.A 3R B ¥EIER &, SY5:3 & - g1fey dicd &1 dC Hr3/10 A1 F AT w7 A

A ol IR C1/5 HAWTA § TUT1/10 9T BH AT 8, A FAT w1er Fasqaret reyarar grem

(A and B are partners sharing profits in the ratio 5:3. They admitted C, giving him 3/10th Share of
profit. If C acquires 1/5 share from A and 1/10 share from B, new profit sharing will be)

(a) 5:6:3

(b) 2:4:6

(c) 18:24:38

(d) 17:11:12

13.3?’35‘?&“ QT T AT g &Y 98T I & (Profit or loss on revaluation is Borne by)
(a) T WTFIER (Old partners)
(b) AT HTEER (New partners)
(c) weft |TSAER (All partner)
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(d) shael & HISER (Only two partners)

14. 9TIGR & ol @ & IRMAF A¥ W FA7 fAFTar S1ar 2 (The opening balance of Partners

15.

16.

17.

18.

Capital A/Cis used to calculated)
(a) q‘\Gﬁ' g sTaT (Interest on capital)

(b) 3ATEYOT YT ST (Interest on drawings)
(c) 3ATEIOT (Drawings)
(d) g1fer & R’EWT (Share in loss)

AT WEIER @RT &A1 & fAT a1 a8 davg A ad@er Aeiert qanrT frw srgara &
q1d ST % (Share of Goodwill brought by new partner in cash is shared by old partners in)

(a) @TST fASITSTeT 31eTUTA (Profit sharing ratio)

(b) q«»_:ﬁ 3e9Td (Capital ratio)

(c) <Imar 317:I"Q'I?I'(Sacrificing ratio)

(d) Sﬂ'ﬁ' g S Flﬁ'(None of these)

X, Y3 z v & & ST F AEER &1 9% B @ a1 T@or w1 g1 X Ay

& dra ATer-fasTTSTer 3reTuTd 1:2 G R 1G] 3eT9Td §19M (X, Y and Z are equal partners in a

firm. Z retires from the firm them. New profit-sharing ratio between X and Y is 1:2. Gaining ratio
will be)
(a) 3:2
(b) 2:1
(c) 4:1

(d) FaelY 1/3 YIS HIAT & (Only Y gains by 1/3)

TH AEGR & HGHIT AT Fat & TAY Afaf@ad wufadl &1 sqaer Fw var fmar
IGI %‘ (How unrecorded assets are treated at the time of retirement of a partner)

(a) gﬂ'&?ﬂ'lﬁ' g rar & a?%f(Credited to revaluation account)

(b) R 3raFT FFOT FIA ATl WIHGR & Yol WIAT F HT3T (Credited to Capital A/C of

retiring partner)

(c) W @TrdT &1 3f9¢ (Debited to revaluation account)
(d) EBIERT & tl;?:rﬁ @Td &I AT (Credited to partner’s Capital A/C)

v iR atER §, S 2:2:1 F g9 F et Frafed §1 d F @HA TET T W
i &1 fedisweT 30,000 fFar aam & & afagft & R v wa d &1 e A
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C Ty (A, B and C are partners sharing profit in the ratio of 2:2:1. On the retirement of B, Goodwill
was valued at ¥30,000. Find the contribution of A and C to compensate B.)

(a) ¥20,000 3iX Z10,000

(b) 8,000 3R 4,000

(c) IS 3T Fl?f(No contribution)

(d) ¥15,000 3iX ¥15,000

19. T, 3 v B H AEeR 21 IR & AT AEER F T H YAU FIGT § (A, Band C
are partners in a firm. If D is admitted as a new partner, then)

(a) ‘EI’TIH‘T wH F1 Qe 81917 (Old firm is dissolved)

(b) ngFﬁ A JUT gTFﬁ '\CI'IQ?\'Iﬂ #1 Reea g191T (Old firm and old partnership is dissolved)
(c) ng?ﬁ qrstert g?l?'iﬁ_cl' g191Y (Old partnership is reconstituted)

(d) SFFJEI' ) ﬂ-ﬂ%‘ Fl'eﬁ(None of these)

20. 51T WIHER EART A TS I§ TAM FEATA! § (Goodwill brought in cash by new partner is
called)

(a) #Qﬁ'(Assets)

(b) T (Profit)

(c) SfAIH (Premium)

(d) s?lﬁ' ) H-ﬂé’ Flﬁ(None of these)

21. Tyt wufeat & Aew 7 gefer Fgerd % (Increase in the value of fixed assets is termed as)
(a) ©ITH (Profit)
(b) HeH @(Appreciation)
(c) QY (a &b both)
(d) 39UFT T (All of these)

22.A3R B 5:3 # smer-gifa F1 Reerr G §T WRIER 1 C F AT THER F w9 H
nfAe fram ST & 3R T Amer-fAISer JeTdTe 9:5:2 AT ¥ TAWT AT §9IT (A and B

are partners sharing profit and losses in the ratio of 5:3. C is admitted as a new partner and the
new profit-sharing ratio is 9:5:2. Find out the sacrificing ratio)

(a) 1:2

(b) 1:1

(c) 1:3

(d) 2:1
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23.

24,

25.

26.

27.

dt, 7, 3R AR TH WEER 7, M 6:5:3:2 F g H omel F1 oS I §1 wH B
¥ HIFWT TGO FIAT §1 TH & HTFIA TN FI & qT6 4T 19 - FAevaret 3reqarer ghom

(P, Q, R and S are partners sharing profit in the ratio 6:5:3:2. S retires from the firm. Calculate
new profit-sharing ratio)

(a) 6:5:3

(b) 6:5:2

(c) 6:5:4

(d) 1:1:1

vFd, ar$ AR A3 el W F4:3:2 F U F WHER §1AE IFTHI TGO FAT B
T 3R a$ HfasT H5:4 F AU F A0 - g1l F aie 1 Toky FR@ §1 amr wita
3@% gl (X, Y and Z are partners sharing profit in the ratio of 4:3:2. Y retires. X and Z decided

to share profits in future in the ratio of 5:4. Calculate gaining ratio)
(a) 1:1
(b) 2:1
(c) 1:2
(d) 3:2

AHER & THA TN FT W EA1a A g A v &t @t 7 i3 dir smeeft

(On the retirement of a partner full amount of goodwill is credited to capital account of)
(a) 3T TFUT FIaA dTel TSGR & (Retiring partner)

(b) 99 FTEIERT & (Remaining partners)

(c) T FRASRY F (All partners)

(d) s?lﬁ' ) H-ﬂé’ FI'eﬁ(None of these)

#Hiema 3 Akt v W A wgier ¥ 1 Al B Feiee @ qF e AT W 10% A
e & FAlreT yred g g, Safe Akt FY FAler F qeara qey AT W 5% Hr W @
FHRIT YT BT g1 FARGT § G FT ey a7 €1,10,000 71 Fewmah F1 Fwaferw gomw

(Minakshi and Gauravi are partners in a firm. Minakshi is to get a commission of 10% on net
profit before charging Commission while. Gauravi is to get a commission of 5% of net profit after

charging all Commission. Net profit before charging any commission was ¥1,10,000. Calculate
commission of Minakshi)

(a)¥ 11,000

(b) ¥ 12,000

(c) T 1,100

(d) ¥ 14,000

Arsiey aFsla & gRadsT @ (By change in the partnership agreement)
(a) H’IQEI?I’ F ALY Ay g AT %(Changes the relationship among the partners)
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(b) mﬁaﬂ SIET &1 39 HRCIGI %(Result in end of partnership business)
(c) WIS B &1 fA=gesT 8 ST § (Dissolves the partnership firm)

(d) s?l'«ﬂ' g 5 Flﬁ'(None of these)

28. S8 WIfCT HeJ9Td (Gaining ratio)
(a) oTaT HeluTd - AT W(New ratio - Old ratio)
(b) GITIT 34T - TN 9T (Old ratio - Sacrificing ratio)
(c) oTAT 3HeldTd - ST IHeTUT (New ratio - Sacrificing ratio)
(d) T HeqTd - =737 W(Old ratio- New ratio)

ZQ.W BH & gﬂﬁ%ﬂ' I HYREAY & FI‘\?T " q_?\;ﬁl' 3| ‘Jﬂ'UTI'H'(Increase in the value of
Assets on reconstitution of the partnership firm results into)

(a) adHA '\‘lﬁa'lfl' I ST (Gain to the existing partners)

(b) TAHATT H‘IQ?{ITT Ca) E'Iﬁ'(Loss to the existing partners)

(c) AT '\‘lﬁa'lfl' HY T ATH o gIfeT (Neither gain nor loss to the existing partners)
(d) SFFJEI' ) ﬂ-ﬂ%‘ Fl'eﬁ(None of these)

30. ATHTN HTHI............ 9 f&aT ST § (Dividends are usually paid on)
(a) Hﬁﬂf‘d ti‘\‘_:f’f(Authorised capital)
(b) foeifaa ti@l’f(lssued capital)
(c) AT TS ti'\‘_:f’f(Called-up capital)
(d) e ti‘\Gﬁ(Paid-up capital)

31. AR 3er AT e s ?(Right shares are issued to)
(a) Yade! HI a3t & foIT (Promoters for the services)
(b) Yada 1T RHOTTAl & GRT &Y (Holders of convertible debentures)
(c) ﬁa:q'mr-r srereniAY Eﬁ(Existing shareholders)
(d) 39T WY (All of the above)

32, 372 e @Il %‘(Share allotment account is)
(a) safFdeTd W@TT (Personal Account)
(b) arEdfds® @TAT (Real Account)
(c) oA ATA T WIdT (Nominal account)

(d) S?-l'ﬁ' ) «'ﬂ%‘ Flﬁ'(None of these)
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33. AT FAURT FIT F & & (Equity shareholders are)
(a) FAT & AR (Creditors of the company)
(b) EaT#HY (Owners)
(c) FUA F JTgsh (Customers of company)
(d) 379? g 5 Flﬁ'(None of these)

34, 312F & mﬁw # fds Res & g gt # f@@mm ST § (Premium on issue of shares
is shown on....... side of the balance sheet)
(a) '\‘i'CIﬁ'(Assets)
(b) ST (Liability)
(c) XY (Both)
(d) Sﬂ'ﬁ' g S Flﬁ'(None of these)

35. AfAFR 3¢ 9 %‘ ﬁ%’(Right shares are the shares ,which)
(a) F9T F &R F AAAT FAT STAT § (Are issued to the directors of the company)
(b) FYAT & TIATT U RSP F AT Far Far %(Are issued to existing shareholders

of the company)
(c) FYt & gadr H FAAAT fHAT AT 7 (Are issued to promoters in consideration of

their services)

(d) gufear @lies & fav fakanst # RefAa fFar smar %(Are issued to the vendors for

purchasing assets)

36. yIfdd q«‘_:ﬁ 3T 3R ‘I‘\T:ﬁ F HaA A el SIldl %‘(The difference between subscribed

capital and called- up capital is called)
(a) SIhTAT AT (Calls in arrears)

(b) 31T AT (Calls in advance)
(c) 3raTfRd Gait (Un-called capital)
(d) ga'# q FE Fl'é’f(None of these)

37. %l AT & AR Faer A U Ao # ey g, It e o WA @
(As per the Companies Act, only preference shares which are redeemable within...... can be
issued)

(a) 24 a¥ (24 Years)
(b) 22 ¥ (22 Years)
(c) 30 a¥ (30 Years)
(d) 20 T¥ (20 Years)
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38.¢9d F & HJUR A Il W A A1 AHaA T % (According to table F interest on
calls in advance should not exceed at)
(a) 8% ufaa¥ (8% p.a.)
(b) 12% wfaa¥ (12% p.a.)
(c) 5% ufaa¥ (5% p.a.)
(d) 379? g 5 Flﬁ'(None of these)

39.9‘%31‘\'%' NfATs @+ s ﬁl‘c’[&' H frad saeta @ aran %‘(Securities premium

is shown under which head in the balance sheet)
(a) IT TUT IAFT (Reserve and surplus)

(b) CICLEZ D (Miscellaneous expenditure)
(c) =Tel ST (Current liabilities)
(d) 372r i (Share capital)

40. 99T q‘\Trﬁ a1 I %(Reserve Capital means)
(a) rfawofda IR sflRa q«»_:ﬁ &I Teh HTIT (A part of subscribed and un-called capital)
(b) |FRIT T (Reserve profit)
(c) YT WerT FT f3FAT (A part of Capital Reserve)
(d) q«‘_:ﬁ T HET FT TH f&4dT (A part of Capital Redemption Reserve)
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* * 4
sREus MAw IerauE va gferor aRye, W= (RE0s)
JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI (JHARKHAND)

9YH drafds qiiar (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)

gfagel yead T #e-02
Model Question Paper SET-02

FaTT-12 fyg- Sramere ¥HT- 1 wer 30 fAete qUITH-40
e fAder-

> Y e fAart § 1

It is mandatory to answer all the questions.
> wedl T FT AT 40 ¥ |
The total number of questions is 40.
> UeE e & faw 1 3w Fuifa &1
Each question carries 1 mark.
> U AF N & fav ax fFed Ru av §1 598 ¥ v 7 [ewew &1 a7 ffFw |
Each question is provided with 4 options. Choose the correct option.
> Idd 3 & AT FIE e A FIE FATCA |

There will be no negative marking for any wrong answer.

1. 5 gasia & v & wEiedl B & o va @i &1 [T AT STaT § (In the absence of

any partnership agreement the profits or losses of the firm are divided in)
(a) SRTET- STEX (Equally)

(b) tl;\':ﬁ & Hegurd £ ) (In capital ratio)

(c) AT 3TF:|_,'QTEIT £ ) (In different proportions)

(d) gﬂ'ﬁ' a Tﬁé’ C | (None of these)

2. \qﬁa'lff Iﬂﬁlﬁ' F HHT A ‘?!\Gﬁ qY sgTer fedr SITEAT (In the absence of partnership deed interest on
capital will be given to partners at)
(a) 8% 9faaY (8% per annum)
(b) 6% wfaa¥ (6% per annum)
(c) 2% wfaa¥ (2% per annum)

(d) S?-m' g aﬂé Fl'ﬁ(None of these)

3. % & fav JTEIOT X =TT %(For the firm interest on partners drawings is)
(a) <II (Expenses)
(b) AT (Income)
() &1 (Loss)
(d) 91T (Gain)
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4. 9 ¥ AfRTa fAAT F1 30T vAF AT i yfaw Ay F I =r @ ar mgor fr

Sl TfY I ST AT ST § (When drawings are made at the end of every month of certain
amount then interest will be calculated on total drawings)

(a) 6.5 #AET & fAT (For 6.5 months)
(b) 6 AHA & fAT (For 6 months)

(c) 5.5 A & fAT (For 5.5 months)
(d) 12 #gIT & T (for 12 months)

5. 5T & ¥ Fla- a1 a7 F1 FAOET %‘(Which of the following is an appropriation of profit)
(a) |UT YT TS (Interest on loan)
(b) tﬁﬁ g =TT (Interest on capital)
(c) adeT (Salary)
(d) T (Rent)

6. FT e TuIfd # wsnfdd #a & 84T (Following are the factors affecting Goodwill except)
(a) gaE™T HY ‘Sl'qjﬁ'(Nature of business)
(b) g§Y Y FF &THAT (Efficiency of Management)
(c) dHeATRY AT (Technical knowledge)
(d) m i m(Location of the customers)

7. SIET #Y s@aj‘ér & Al A # Fgd %:(The monetary value of reputation of the business is)
(a) TI1TA (Goodwill)
(b) 3TTTST (Super Profit)
(c) 3T (Surplus)
(d) JAHTATAT TH (Abnormal profit)

8. T ¥ (Goodwill is)
(a) 31‘3-'!' 'H""Iﬁ'(Tangible assets)
(b) 3171‘3-'1' m(lntangible asset)
(c) dTel aufa (Current asset)

(d) S?-m' g aﬂé Fl'ﬁ(None of these)

9. o 3 aut & =T ¥6,000; 313,000 TAUT 8,000 Y| Ty T Aex itwa amer & 2 aut & F7
9T T (Profits of last three years were ¥6,000 ; ¥ 13,000 and ¥8,000. The value of goodwill at 2 year’s

purchase of average profit will be)
(a) X 81,000

(b) X 9,000

(c) X 18,000

(d) X 27,000
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10.

11.

12.

13.

14.

15.

E_I,?-l?-fl‘?q'iﬂw_a-l' g rdT # AT 98T YT STAT U&7 &1 Ay %(Excess of the credit side over the debit side
of revaluation account)

(a) oA (Profit)

(b) &1feT (Loss)

(c) WIS (Gain)

(d) I (Expense)

ferer cfter it & it @mer 242,000, 339,000 AT 45,000 1 e @Y F &Y Y F FI W EAfA F1 H{eT

E’I'JIT (The profits of the last three years are 342,000, 339,000 and %45,000. Value of Goodwill at two year’s

purchases of the average profit will be.)
(a) X42,000

(b) 84,000

(c) X1,26,000

(d) 36,000

A 3B \TSIER §1 ¢ Y 1/5 & forw enfarer fam simar 1 ¢ 3r9ey #11er & farw 1,20,000 Yot & w9 # AT 1

BH FT QE}TH\@W%I(A and B are partners. C admits for 1/5 share. C brings X1,20,000 as his amount of

capital. The net worth of the firm is)
(a) X1,00,000
(b) %4,00,000
(c) X1,20,000
(d) %6,00,000

ﬁﬂmﬁw*mmmmmﬁmwmﬁﬁﬂwmm%(Balancesheet

prepared after new partnership agreement, assests and liabilities are recorded at)
(a) T HeH 9T (On actual value)

(b) WH‘EW (On revalued amount)
(c) T AT HeF T (On realisable value)
(d)a mbﬁ'@‘ﬁé’W(Any oneinaandb)

mvﬁn*mmﬁﬁmam% (The amount of Goodwill is paid by new partner)
(a) ‘I;Gﬁ'a? W*ﬁ'ﬂ' (For the payment of Capital)

(b) a A REaTue & e (For sharing the profit)

(c) o F9 Fa & faw (For purchases of assets)

(d) W@'Hﬂé’ﬂﬁ (None of these)

A,B 31T C AT &1 1Y 18T T T Y 4:3:2 F He[qTer H dica 1 D HY 1/10 7T & forw warer Rz siwar
%, me (A,B and C are three partners sharing profits and losses in the ratio of 4:3:2.D is

admitted for 1/10 share, the new ratio will be)
(a) 10:7:7:4

(b) 5:3:2:1

(c) 4:3:2:1

(d) sﬂ'ﬁ'@‘aﬂé’a‘lﬁ( None of these)
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16. X,Y 3R 2 AISIGR & TUT w187 FATSTeT T 3:5:1 F1 Y 37 HTHIRN ARG ¢ | 3HHT fgwam 2 o fam) x

sz WH’&TWW (X,Y and Z are partners and profit sharing ratio is 3:5:1. Y now wants to retire

and his share is taken by Z. Find the new ration of X and Z.)
(a) 1:2
(b) 2:1
(c) 3:5

(d) STET (Equally)

17. AB IR C1/2 :1/3:1/6 % HeTaTel & AT dTedt § | C IAFHIA TGN AT & | T ATl €117 (A,B and C
are sharing profits in the ratio of 1/2:1/3 : 1/6, C retired. Gaining ratio will be)
(a) 2:1
(b) 2:3
(c) 3:2
(d) 1:2

18. T WIFIER F HTHIY TOT FIA W, Wy v 1Al & Yera{eaianat & amer Ol @ & st i ol
91T (On the retirement of a partner, profit on revaluation of assets and liabilities should be credited to
the Capital Accounts of )

(a) mﬁv@aﬁ%gﬁmﬁm*wﬁ (All partners in their old profit sharing ratio)

(b) ﬁgcamama:mﬁma@ma# (The remaining partners in their old profit sharing ratio)

(c) a%guwrsﬁama;mmﬁma@ma# (The remaining partners in their new profit sharing ratio )
(d) Eﬂ'ﬁ'ﬂ'ﬂﬂéﬂﬁ' (None of these)

19. Wqﬁmﬁmﬁm% (Gaining ratio is calculated)
(a) U oTT HISIER & TA2A & HY (At the time of admission of partner)
(b) freY TSGR & 37THTA TFUT FIA U (At the time of retirement of any partner)
(c) Wtﬂ##f&aﬁaaﬁw (On the dissolution of partnership firm)
(d) mﬂ'qﬂéﬂ'ﬁ (None of these)

20. m&rmmﬁ%mgﬁ@mﬁwaﬁraﬁaﬁm% (Profit and loss on revaluation at the

time of retirement is shared by)

(a) a%gtrmsmfrapm (Remaining Partners)
(b) H’Sﬂ'mﬂﬂ' ( All partners)

(c) H‘Q’Fﬁﬁlﬁﬂ-ﬁ'( New partners)

(d) Eﬂ'ﬁ'@'ﬂﬂéﬁﬁ (None of These)

21. forelt wrsieR i Yarfagfa W, Aarfaga AR & gait @i 1 STAT 3T ST (On retirement of the

partner, retiring Partner’s Capital Account will be credited with)

(a) 3T ATIT Y 1T & T (His/ her share of Goodwill)
(b) B3 Y TITTT & ATT (Goodwill of the firm)
(c) eﬁv@m‘fﬂ?maﬁrwmﬁr#m (Share of Goodwill of remaining partners)
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(d) s?lﬁ' qHS Tt (None of these)

22. T FFqaAT & ey gl & (Shareholders of a company are)
(a) TATHY (Owners)
(b) AR (Creditors)
(c) &sTER (Debtors)
(d) Iele-tTeh (Managers)

23. Sreet 33 a1 37T & qe: faToer 3 qredTer 31T §X0T WTA & A Y gEATTIR 4T ST & (Balance of

forfeited Shares A/C after Re-issue of forfeited shares is transferred to)
(a) TS- gTfaY WTAT ( Profit and Loss A/C)

(b) ‘{Gﬁ' HEY AT (Capital Reserve A/C)
(c) GTHTET WY WTdT (General Reserve A/C)
(d) 3## q EFT%’ C Rl (None of These)

24. mﬂﬂmﬂm% (Premium on issue of shares is a)
(a) ‘!\T:ﬁﬂ?l'?ﬂﬂ (Capital Gains)
(b) “!\T:nﬂ?l'ﬂﬁ‘ (Capital Loss)
(c) |THAT &T1feT (Normal Loss )
(d) "TATAT T3 (Normal Profit)

25. m*mﬁmmm@m% (Capital included in the liabilities of a company is called)
(a) Hﬁﬁ"i@ﬁ (Authorised Capital)
(b) ﬁlﬁa"iﬁﬁ (Issued Capital)
(c) mﬁaﬁ’gﬁ (Subscribed Capital)
(d) E_I’Ew_clTﬁvﬁ(Paid-up Capital)

26. SAX A amraﬁaﬁrtﬁﬁ?rq;:ﬁ FladE (Which one of the following is the registered capital of the

company)

(a) Wt\l"?ﬁ (Paid-up capital)
(b)m?rfl:?ﬁ (Uncalled capital)
(c) mﬂcﬁl’ﬁ:ﬁﬁ (Authorised capital)
(d) ﬁl"iﬁ?l’fl:?ﬁ (Issued capital)

27. e & P HA & q‘\é &i- I1 [aawor fAsra () T srar T (Which statement is issued before the issue

of shares )

(a) ITaGOT 9 (Prospectus)
(b) 91T ATHIH (Articles of Association)
(c) 9T HATTAIAH (Memorendum of Association)
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(d) 39T 3T (All of the above)

28. mran% (Share Allotment Account is)
(a) SATFTITA GTAT (Personal A/C)
(b) aTEafAs @TAT (Real A/C)
(c) SITHHATH T WTdT (Nominal A/C)

(d) sﬂﬁ' aPE TeY (None of these)

29. TSI WTAT: feaT ST @ (Dividends are usually paid on)
(a) mﬁ;ﬁﬁ' (Authorised Capital )
(b) mﬁﬁ;\_’ﬁ' (Issued Capital)
(c) H‘Fﬁmﬁ:?ﬁ' (Called-up Capital)
(d) lJIET'l'tki:\Tvﬂ'(Paid- up Capital )

30. e & WU H IRUTHEERT " a'l?ﬁ% (Foerfieture of shares results in the reduction of)
(a) W‘T\I’:\Gﬁ' (Paid-up Capital)
(b) ﬁﬁ'ﬁ't\l’;&ﬁ' (Authorised Capital)
(c) F’J‘I‘Qﬁ't‘l:Gﬁ(Fixed Capital)
(d) anfiﬁrﬁgh (Reserve Capital)

31. Fyet AT 2013 #wwmmwm% (Under the provisions of the Companies

Act, 2013 a company can issue)

(a)FHAT 31"?T(Equity Shares)

(b) qy‘lﬁTﬂTﬁQl' (Preference Shares)

(c) @A HUTq q‘?ﬁ'ﬁTﬂT 3T (Equity Shares and Preference Shares)

(d) 3?{# THS Tt (None of these)

32. A F ?ﬂaﬂmmwmﬁmm% (As per Table F the maximum rate of interest on

calls on advance paid is)
(a) 8% p.a.

(b) 12% p.a.

(c) 5% p.a.

(d) s?lﬁ' qHS Tt (None of these)

33. 37T 3TdCeT WIAT & (Share Application A/Cis )
(a) SaTFTTd GTAT (Personal A/C)
(b) aTEafa® @TAT (Real A/C)
(c) SATHATT @TdT (Nominal A/C)

(d) s?lﬁ' q S Tt (None of these)
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34

35.

36.

37.

38.

39.

. W@ﬁﬁﬁ@?ﬁﬁﬂﬁﬁ% (The difference between subscribed capital and

called-up capital is called)

(a) SIhTAT JTAAT (Calls-in-arear )
(b) 37T ITEET (Calls-in-advance)
(c) m‘fbﬁ'wncalled capital)
(d) Eﬂ'ﬁ'ﬂ'ﬂﬂﬁﬂﬁ (None of these)

(a)dM@h (Customer)
(b)eIsTER (Creditors)
(c)Ear#Y (Owner)

(d) &G (Debtor)

g yTcT FRA & (Shareholder g
(a)sITST (Interest)

(b)SITSTET (Dividend)

(c)F#HRAT (commission)

(d)<ITa (Profit)

forfeited share is debited to)

ets)

(a)3rer BT grdr # (Share Discount A/C)
(b)372T 3TYEIOT WTAT & (Share Forfeiture A/C)
(c)<ITsT- g1fey @TAT # (Profit & Loss A/c)
(d) ‘?\I;Gﬁ =T @TdT 7 (Capital Reserve A/C)

(a) §H HeT 9T (At par value)
(b) SAfAT 9T (At Premuim)
(c) H@W (At Discount)

(d) a kb gI4Y (Both A and B)

st & rfRaTeT ) sl Res &
side of the Balance Sheet)

(a)ﬁ'qﬁf (Assets)

(b) ST (Liability)

(c) GX=Y (Both)

(d) s?lﬁ' g S Tt (None of these)

FHar e g @ (Equity shareholders are)

Wﬁ?ﬂ'ﬂ'ﬂ'ﬁ%ﬁﬁ?gﬂ'z mwﬁmgﬁgﬁ?mmﬁmscount allowed on reissue of

37 &1 AT Far ST aRarg (Shares may be issued)

geT H fe@mar srar g (Premium on issue of share in shows on.....
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40. gIfiAcar Y gﬁ' ufr afFafad F]?ﬁ % (Total amount of liabilities side includes)
(a) mﬂ'ﬁ'ﬁ:\sﬁ(Authorised Capital)
(b)ferat e g3t (1ssued Capital)
(c)uTf&a g (Subscribed Capital)
(d) W‘\I:\Gﬁ' (Paid-up Capital)
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* * 4
sREus MAw IerauE va gferor aRye, W= (RE0s)
JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI (JHARKHAND)

9YH drafds qiiar (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)

gfagel yead T #e-03
Model Question Paper SET-03

Fail-12 fwg- dwmre ¥HY- 1 "er 30 fAee qUTTEH-40
e fAder-

> Y e fAart § 1

It is mandatory to answer all the questions.
> wedl T FT AT 40 ¥ |
The total number of questions is 40.
> UeE e & faw 1 3w Fuifa &1
Each question carries 1 mark.
> U AF N & fav ax fFed Ru av §1 598 ¥ v 7 [ewew &1 a7 ffFw |
Each question is provided with 4 options. Choose the correct option.
> Idd 3 & AT FIE e A FIE FATCA |

There will be no negative marking for any wrong answer.
1. IslerT H’@HU ST & (Making of partnership agreement is)
(a)37far (Compulsory)
(b) 1i"‘fﬁﬁ'T(Voluntary)
(c) 37 Ay (Partly compulsory)
(d) 3URYeFd T (All of the above)
2. OElery afaad g ay SIEI8 §3—1T (In which year did the Partnership Act passed)
(a) 19328.
(b) 1956 8.
(c) 19475.
(d) 19528.
3. = & O =i H’I?’c‘(lﬂ Fr fayar ;rﬁr %(Which one of the following is not the feature of

partnership)

(a) Hﬂgﬁ?—lT(Agreement)
(b) SITH TAHTSST (Sharing of profit)
(c) BfAT &1f¥ca (Limited liability)
(d) ar I ar ¥ e ail'%d’(Two or more than two persons)
4. TR ot @rar RAfY & 3iaeia ARl & goff @id W aret sise fFam Sirar & (The

interest on Capital account of partner under fixed capital method is to be credited to)
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(a) FI'IB?T:‘"RT Co Q\Gﬁ ©rdr ff(Partner's capital account)
(b) oI gifsr @rar ﬁ'(Profit and loss account)
(c) saTaT W@rdr ﬁ'(lnterest account)
(d) 'H'@EITF C dTef @rd H (Partner’s current account)
5. '\’:I'@?CRT $r q‘\\_:ﬁ' AT gl W Pl T @A Gl ST %(Which account is opened when the

capital are fixed)
(a) shaeT Yol @ICT (Only Capital Account)

(b) sha ol dTe] @IdT (Only Current Account)
(c) af¥ca @rdT (Liabilities Account)
(d) qt\\_rﬁ grar 3R dTe] WIdT (Capital Account and Current Account)
6. AISERT T CI;Gﬁ' T ST g (Interest on Partner’s Capital)
(a) =TI (An expenditure)
(b) ﬁﬁﬁfﬁlﬂ(An appropriation)
(c) ©ITH (gain)
(d) SIH ¥ IS TET (None of these)
7. e & @ Fla-d GUlT Tk AT WIEIER & YA & AT A(Aad §9 & GeTaedichel HI

ST & (Which of the following asset is compulsorily revalued at the time of admission of a new

partner)

(a) TBfadT (Stock)
(b) TATAT FURT (Fixed asset)
(c) ﬁﬁ%r(lnvestment)
(d) T&IIfa (Goodwill)
8. @ a & ¥ g gl R”fSASa @rar & fo@r Jrdar & (Which one of the following

item is to be recorded in Profit and Loss Appropriation account)
(a) FRUT YY =TS (Interest on loan)

(b) ATSIGR T A (Partner’s salary)
(c) FI'@?.‘(IT 1 e Ir W(Rent given to partner)
(d) gt ol AT (Manager’s Commission)
9. HBIGRY HHASIAT FEATAT & (Partnership agreement is called)
(a) QﬁT:ITUT(Prospectus)
(b) 1L 3-1?-Iﬁ'€l?=r(ArticIes of association)
(c) TTBIERT & @EﬁﬁH(Principles of partnership)
(d) H’@aﬂ W(Partnership deed)
10. AT 3R Y AFIER & S T &l Se-ae) died &1 R @afdd &7 & 6 7%

de 9l Ag & 37d H 4,000 T 3TEI0T &dl gl 5% 9faay $ir g7 & 3180 W
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11.

12.

13.

14.

SITST T VT Y (Ramesh and Suresh are partners sharing profit and losses equally. Suresh

draws regularly 4,000 at the end of every month for 6 months. Calculate interest on drawings at

the rate 5% per annum)
(a) X650

(b) %450

(c) 600

(d) 550

AU HHGR cdRT &I T TMA & ST & (The amount of goodwill paid by new partner is)
(a) qgﬁ 3?1?[1?[ C ﬁ'U(For payment of Capital)

(b) ST H BEAT 9Td & [T (For sharing the profit)

(c) TUAT T FT & AT (For purchase of asset)

(d) 35-!'# b} Ehﬁ'é' a‘-l'&'ﬁ'(None of these)

®H ST TS & W ¥1,00,000 9 frar amam gl W H 'afa 50,000 i
fears 7§ &1 3RfHe = v 1/4 Rear & faw waer Gar arar g1 3Rfde qarr &ifa &
o Fng Sl arell T&hH @?ﬁ (Goodwill of the firm is valued at ¥ 1,00,000. Goodwill also appears

in the book at ¥ 50,000. Arvind is admitted for 1/4 share. The amount of goodwill to be brought in
by Arvind will be)
(a) £20,000

(b) %25,000
(c) 30,000
(d) 37,500
GIY H@?{IT & YA & AT AFT H @ ST T A dg SIldrl %’(What increase at the time of

admission of a new partner)
(a) dTef arffica (Current liabilities)

(b) TATS E1RAT (Fixed liabilities)

(c) 3WITd Eﬂ?ﬁ(Both of the above)

(d) SFI?ET b} Eﬁé’ Flésr(None of the above)

afe ® & ol TURI4,05,000 & R a6d arfdca 355,000 & o war v gl g (if

the total assets are ¥ 4,05,000 and the total outside liabilities are ¥ 55,000. Then the amount of

partnership capital will be)

(a) ¥3,50,000
(b) ¥4,00,000
(c) %3,75,000
(d) s?lﬁf re) Elflé o_-l'eﬁ'(None of these)
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15. 9 4T H8iER 39« BEd &1 TIifd &Y diehe, & AT oaT § o 39 A & sfae FEr

(When a new partner does not bring his share of goodwill in cash. The amount is debited to)
(a) e IS ERCII] ff(GoodwiII account)

(b) IV HISIGR & Yoll WIAT H (Capital account of new partner)
(c) Ths WIAT H (Cash account)
(d) gTIFT H‘I’gﬂ?{l? & q‘\Gﬁ rdr ﬁ'(CapitaI account of old partner)
16. THT, G 3N feever omeit o1 fasreiet 5:32 7 ol 81 Ife e arfarge g aran & ar
@ 3 {I?\"\’T FT AT IH fAHTST 3-1?ng?[ ?I?IT(Ramesh, Suresh and Dinesh are partners

sharing profit in the ratio of 5:3:2. If Dinesh retires, the new profit sharing ratio between Ramesh
and Suresh is)
(a) 3:2
(b) 5:3
(c) 5:2
(d) 4:3
17. A, B 3R c AS1GR & 3R 3e1ehT it shaAer: 1,00,000, 75,000 3R 50,000 §1 C & 3rdenrr
FEUT T 3T 37 FTA R BA6:4 & eIl # @lie foram| amet Jifed 31gard g9 (A, B

and C are partners. Their capitals are ¥ 1,00,000, ¥ 75,000 and ¥ 50,000 respectively. On his

retirement, his share is acquired by A and B in the ratio of 6:4. Gaining ratio will be)
(a) 3:2
(b) 2:2
(c) 2:3
(d) 1:2
18. o, FY3R 3R 3:4:3 & I H Tl I dled §1 F IAHRM TEUT HIT g 3R O

YT AR 3HF oM T SRIR- SR died g1 G 3R AR ST 731 397 g9 (P, Qand R
are partners sharing profit in the ratio of 3:4:3 .Q retire and P and R share his profit in equal ratio.
Find the new ratio of P and R.
(a) 1:2
(b) 2:1
(c) 3:1
(d) 1:1

19. T ﬁw H Eara ﬁajam?r grar EQ-LI shfsc forar SITUAT (If goodwill is appearing in the
balance sheet it will be credited to)

(a) ©IT8T 9ot aTer Tﬁ(Gaining partner)
(b) 3Td<hIRA AFOT FL aTel ﬁ(Retiring partner)
(c) T TBIGRT &I (All partners)
(d) Y F@?{Iﬁ Tﬁ(Remaining partner)
20. 3TGHILT TGUT Fla dTel ABIER FI I AR RIear 7 fe@s AT §,3Th (Amount due to

retiring partner is shown in the balance sheet as his)

(a) eTR—¥IcT & &Y (Liability)
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(b) FYT & FT H (Asset)
(c) 9ol & &9 H (Capital)
(d) YT & &9 H (Loan)
21. T FHYT H HESEAT HT IAcd 8IdT & (The liability of member of a company is)
(a) TTAT (Limited)
(b) 3TETAT (Unlimited)
(c) TR (Stable)
(d) tl'ﬁTtlel?-TQ'flT*l'(FIuctuating)
22. % A @ fhd e Il T e & foIT gerar Sier =mfgw (Which of the following
should be deducted from the called up capital to find out paid up capital)
(a) e YTIT (Calls in advance)
(b) ShTAT IATICAT (Calls in arrear)
(c) 372 &UT (Share forfeited)
(d) 37 F AT W} dccT (Discount on issue of shares)
23.14’%&'? qc\\_rﬁ HUAT %"(Joint stock company is)
(a) aurfaes Efﬁl?:r FﬂﬁH(An artificial legal person)
(b) magf?la; cgfad (Natural person)
(c) |THATT Eq'fﬂ\rcf(GeneraI person)

(d) ET-DET T Elflé' o‘-l'g?r(None of these)
24.TH FHYeAT @I..... BIAT & (A company has)

(a) E‘[W aﬂTﬁEFEEFIé' (Separate legal entity)
(b) TUTRAT SHdeT (Perpetual existence)
(c) TfAT a1f¥ca (Limited liability)
(d) U0 G (All of the above)
25. HTdolfaleh huaT H TSEAT FHr e IdH & Eﬁ?ﬁ %(Minimum number of members in a Public

Company is)
(a) 4
(b) 5
(c) 7
(d) 3
26. [ &= # geEar cgIdH & ?ﬂ?ﬁ %( Minimum number of members in a Private

Comapany)
(a) 3
(b) 2
(c) 4
(d) 5
27. 37ed IATIAT3T &I Trf‘\?T(Amount of calls in arrear is)
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28.

29.

30.

31

32.

33

(a) Ei?rﬁ H ST ST & (Added to Capital)

(b) 37T q‘\Gﬁ' H EI'c'fIJs’ SATeT %’(Deducted from share capital)

(c) q9fa 9eT & %@1% STeT %’(Shown on the assets side )

(d) AT 37 T &g geT H @S ST & (Shown on the Equity share and liabilities side )

gfar 3791 3fdeed & AR 3727 & ATt AT ... q ®H FAgl gl AR (Application
money should not be less than.......... of issue price of each share)

(a) 10%

(b) 15%

(c) 25%

(d) 50%

gfg 10 aTel FACT 3 12 W ATAT foram Sirar & ar fnd &gt ST & (If equity
share of T 10 it is issued at T 12 which it is called)
(a) EHHST TR TAHA (Issued at par)
(b) 3-1'@?1?2[ SES ﬁm'ﬂ'ﬂ'(lssued at premium)
(c) Feldl W ﬁ?ﬁl?r(lssued at discount)
(d) 35-!'# b} Ehﬁ'é' a_-l'e'ﬁ'(None of these)
T faaIoT H 3727 &I0T & Y FHl....... M & 3daa fe@mrr Srar %’(Balance of Share

Forfeiture account is shown in the balance sheet under the head of)
(a) 372 Yail @Il # (Share capital account)

(b) I U9 HT@TRT(Reserve and surplus)
(c) dTe IR 3E (Current liabilities)
(d) 3R dTef a1f&Ica (Non current liabilities)

FTelr JRARTH & AR FgAqH e B TR Fo FeE . AuiRa & & o

& (According to Companies Act minimum subscription has been fixed at....... of the issued amount)
(a) 5%

(b) 50%

(c) 90%

(d) SFI?ET b} Eﬁé’ Flésr(None of these)

3R H g{oT & gRUTH TEFT °gT AT %’(Forfeiture of share results in the reduction of)

(a) gehdl lij\\_rﬁ'(Paid-up capital)

(b) 3-1‘@3!:?[ Ej\Trﬁ(Authorised capital)

(c) TUTAY tj\Gﬁ'(Fixed capital)

(d) 3R 1Zj\\_rﬁ'(Reserve capital)

BcCh Hgﬁﬁac_d%mm%?ﬁﬁ%TﬁﬁmﬁgﬁEWW%(Whensharesare

forfeited the share capital amount debited with)
(a) 370 & 3ifehd Hed ﬁ(NominaI value of share)
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34.

35.

36.

37.

38.

(b) 32 & SR He & (Market value of share)

(c) 3720 & IJrfad e ¥ (Called-up value share)

(d) 3721 & Yed e & (Paid-up value share)

gYOT fhT 91T 371 & Y foetaHeT o & 91§ e &t 3f9e AT ST § (Discount allowed on

reissue of Forfeited share is debited to)
(a) 37T q‘\\_rﬁ' qrd ﬁ(Share capital account)

(b) 372T 3T9gIOT WId H (Share forfeited account)
(c) oI gl @ra fl'(Profit and loss account)

(d) "THATY J9g @rd ff(GeneraIreserve account)

Ueh Adolfaleh el H TSEAl & if¥ehad g&ar gidr %(Maximum number of member in a
public company is)

(@) 7

(b) 200

(c) 3fAT (Unlimited)

(d) sﬂﬁﬁaﬁgﬂﬁmone of these)
U H ARTT g7 & memer fhadr fGIT ST & (To whom dividend is given at a fixed rate in

a company)
(a) GHAT 3T FT (To equity shareholders)

(b) Q@W 37reTRAT (Preference shareholders)

(c) FOT ITUTRAT &I (To Debenture holders)

(d) TATH Y (To promoters)

JfRehdH TR fSaq@ 3 Huel ' 39 3R & FHT GanrT P Fered Hr 3= w7gr

% (The maximum capital beyond which a company is not allowed to raise funds by issue of shares is

called)

(a) IGEUEG Ej\\_rﬁ(lssued capital)

(b) qag q“Gﬂ' (Reserve capital)

(c) yfﬁ;w q‘\G-ﬁ (Authorised capital)

(d) N IEERIE qc\Trﬁ (Subscribe capital)

Teh Uil 3Tel 3207 &l NAIA W ARAT 91 Jfafaga, 2013 & frd arT & 3Haea

SR &Ldr %’ (A company issues its share at premium under which section of Indian Companies

Act, 2013)
(a) 78
(b) 79

(c) 52
(d) 53
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39. 19 YT & 3 AT fFe Sra § o frg @ra & sfee fRar Srwem (Which account

should be debited when shares are issued to promoters)
(a) 3721 q‘\\_rﬁ' @rdr H (Share capital account)

(b) YT WIAT H (Asset account)

(c) Yade Qrar H (Promoters account)

(d) EIfa @IAT & (Goodwill account)
4o.ﬁeﬁwwmﬁmaﬁméa%§mgﬁ§umaﬁﬁmﬁm

fRT 1A %, CCIGH %’ (An issue of shares which is not a public issue but offered to a selected
group of person is, called)
(a) IS 9EAE (Public offer)

(b) 3721 T fAS STIEAT (Private placement of shares)

(c) URfAE FEafae g&dd (Initial public offer)

(d) ET-I?ET " Elflé er (None of these)
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. * 4
sREvs AMfAw IerauE va gferor aRye, U= (STREUs)
JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI (JHARKHAND)

YA WEfE ThET (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)

gfagel weeT U ¥e-01
Model Question Paper SET-01

Far-12 (@M0S) | fawy- srawiRe i | @#- 1 der 30 e qUie-40
AT -

> gl weeT Irfeary § 1

It is mandatory to answer all the questions.
> weal T FT HEAT 40 ¥ |
The total number of questions is 40.
> Yl e & fav 1 3w AuiRa §
Each question carries 1 mark.
> UA® N & AT IR ey R v &1 5o ¥ v @d Rew &1 99 AfFw |
Each question is provided with 4 options. Choose the correct option.
> Ied 3T & AT FE 3iF A FI& ST |

There will be no negative marking for any wrong answer.
1. If 70k,100,AP % & @ k &T A1 &
If 70,k,100,0ne in AP the value of K is
(a)80 (b) 85 (c) 90 (d) 95
2. 3gHH 1050,-5,-10........ PT 1047 9§ BRI
The 10" term of sequence 10,5,0,-5,-10
(a) 30 (b) 35 (c)-35 (d) 25
3. 3fe fft AP &1 pdl U 9 T 4T g p & O SHST rai U 8
If p™ term is g and g™ term p of an A.P then its r™" term is
(a) p+g+r (b) p-g-r (c) p+q-r (d) p-g+r
4. R A 1,V3,3.....n.. BT P T TS 81 BT
Which term of the A.P 1,\/3,3 ........ will be 81 term
(a)9™ (b) 8™ (c) 10™ (d) 11™"
5. af & A.P ¥Tn = 3n + 53 59 AP &I Ug=R BN |
If an A.P if Tn = 3n + 5 then the common difference will be

(a)1 (b) 2 (c)3 ()4
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7.

8

10.

11.

12.

13.

Find the 8" term of the progression 1,V3,3
(@ V3 (b)27 (c) 273 (d)9
x o 5w A & fog 9= x — 2, x, x + 3 ol &E # B
For what value of x the number x — 2, x,x + 3 arein G.P
(a)6 (b) 10 (c) 16 (d) 12
afkab,c,d GPHFE A (a-b)? (b-c)?, (c-d)*F 2
If a,b,c,d are in G.P, then (a-b)>?, (b-c)?, (c-d)?is:

(a)A.P (b) G.P (c)H.P

(d) None of these (377 ¥ @1g El)

a aAT b FT UK AT B |

Geometric mean of a and b is

(a) == (b)ab?

(c) \/(E (d) none of these

Sl 2,8,32 HT TS U UGT &I ANT B

The sum of first five terms of the series 2,8,32,..... is
(a) 682 (b)748

(c)996 (d)1024

afg "p, =360 n & AF APV

If "p,=360, then find the value of n.

(a)16 (b) 6

(c)8 (d)10

2,3,4,5,6,0 3idi | 400 3R 1000 & 9 ¥ fHa @G 99 FHedl B |

How many number between 400 and 1000 can be made with the digit 2,3,4,5,6
and 0

(a)50 (b)60
(c)70 (d)80
30 =T AT B ISR TP bl g9 & auid Hh1fery |

Find the number of ways in which 30 different pearls can be arranged to form a
necklace.
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14.

15.

16.

17.

18.

19.

20.

29 30
(a) ? (b)?

(c)300 (d) =
X "c30="c4 N BT |

If "c30="c4, then n will be

(a) 30 (b) 32
(c) 34 (d)36

"p,=720 e "¢, =120 T r BN |
If "p,=720 and "c, =120 then r will be

(a)3 (b) 4
()5 (d)6
4! &1 |99 B |

Value of 4!is

(a)6x8x4x3%x2x1 (b)ax3x2x1

(c)a+3+2+1 (d) none of these

3 Ffdaal & 6 T o1 P TRId Sdid b Afad Bl foad W 99 e 9ad B :

The number of wags in which 6 prize can be given to 3 persons, if a person may
get any number of prize is:

(a)6® (b)3°
(c)6ps (d)6cs
5 RIS T & SR a1 B ol W&AT , W& TAF U D 4 [QAadeq T

The total number of answering 5 objectives type questions each question having
4 choices is:

(a)256 (b)512
(c)1024 (d)4096

9 3
12 Ammsﬁml

The value will be of [192 Z]
(a)2 (b)3
(c)4 (d)o

3 B9 & IRMG & TR & TH QA |
Page 3 of 7



21.

22.

23.

24.

25.

26.

One method of expanding determinant of order 3 is

(a) == @ faf¥ (sarus method)
(b)s<t fafr (Bayes method)

(c) dx@war faf (pascal method)
(d)s7# & @iz €1 (None of these)

IfE IRPE B T ™ T 9 8 96T 99 2|

If two coloums of determinants are identical then its value is

(@)1 (b)a
(c) 2 (d)o
[ [y Z] a X,y,z SN |
1 21 z .
If [x 3]—[5 3] then x,y,z will be
(a)5,1,2 (b)2,1,7
(c)5,6,7 (d)0,0,0
1 3
e A= [2 4] 3T IRad
Transpose of matrix A is
1 2 4 1
@, , (b), 4
3 2
(c)4 4 (d) none of these
2
afx A= [ e 9] f 5A8rT|
2
If A= [ e 9] then 5A will be.
15 20 30 20 30 40
@35 40 a5 (b) [40 50 60]
10 15 25
(c) [6 8 9] (d) [30 40 49]
ufd sy # ufdat o wem Bl B
In a row matrix, the number of row is:
(a)1 (b) 2
(c)3 (d) none of these
-1 0 2
aﬁ-:A-[O 1], q9 A° &1 711 BT |
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27.

28.

29.

30.

31.

32.

If A=[_O1 (1)], then the value of A is

@ 1 e[ 1]

@7 o @[l 2]

5 5[ alm=e

[Z :‘[_21 _g]isequalto

@ [; g (b)10

(c) 4 (d) [g ;]
4 7

m%A=3 é]a%nB=[ ]A+Bmm:fsﬁvm

5 2

If A=[3 2] B=[‘5l Z] the value of A+B is
(@) [;g 172] (b) [172 g]
ol 31 @l g

afe A={1,2{3,4},5} a1 fr=iferaa & @19 &1 98 2|
If A={1,2{3,4},5} then which of the following is correct.

(@) 1€4 (b)ae A

) 54 (d){1,2} € A

frforaa # Raa g 319 &1 8|

Which is null set in the following.

(@) o (b) {0}

(c) {0} (d) @

s A={a,b} @ fferaa # a9 A @1 ST T8 7|
(a) {0} (b){a}

{c} {b} (d)?

Ifd n(A)=10, n(B)=7 3R n(AUB)=15 & @ fa=feraa & &9 n(ANB) &1 A1 g1
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33.

34.

35.

36.

37.

38.

If n(A)=10, n(B)=7 and n(AUB)=15 then which of the following is the value of n
(ANB)

(a)3 (b)2
(c)o (d)17

26 Afyal & WE 3 8 @fad s 7 Nax I G & 3R 16 fam o 9 7| fraw =faa
A T NHR Hae Hror 9T T

In a group of 26 persons, 8 persons take tea instead of coffee and 16 persons
take tea. How many persons take only coffee, not taking tea.

(a)10 (b)20

(c) 15 (d)12

THog & WA 9§ 18,24 3R 30 BT #°H° 8N |

H.C.F of 18,24 and 30 by using set will be

(a)2 (b)3

(c)6 (d)8

a9 1,2,3,4,5 % R Raa Sy =l Y G ¥

The number of non empty sub sets of the set 1,2,3,4 is
(a)14 (b)15

(c)16 (d)18

Iafe A={a,b,c,d}, B={b,d,e,f}af A N B &7 4 8rM|

If A= {a,b,c,d}, B= {b,d,e,f} then the value of A N B will be
(a) {a,b,c,d,e,f} (b){b,d}

(cH{d,e,f} (d)}{c,d,e}

SUNDAY 35 ¥ Uoh R ¥ qT 3eR dIx I fhd- I8 97 O 9hd ¢ |

How many words can be formed with the letters of the word SUNDAY taken two
at a time.

()32 (b)35

(C)20 (d)30

I a,a+1,a+3 GPH B a a &1 79 BN |
Ifa,a+ 1,a+ 3 arein GP then the value of a

(a)2 (b)1
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39.

40.

(c)a (d)none

79 a¥ ¥ fof a7 @ UDAS B T B B Ao § I UREAT 600 HIS AT } o o A
fhe B ©

On a new year day every student of a class sends a card to every other students.
The postman delivers 600 cards. How many students are there in the class.

()50 (b)25

(c)15 (d) none of these

TP UIRR H! BT IS 42 | 39D Yo 5 URT P OHGA & |
The 3" term in a G.P is 4. The product of first 5 terms is
(a)256 (b)2048

(c)512 (d)1024
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sREvs AMfAw IerauE va gferor aRye, U= (STREUs)
JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI (JHARKHAND)

YA WEfE ThET (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)

gfager wes g ¥e-02
Model Question Paper SET-02

Far-12 (@M0S) | fawy- srawiRe i | @#- 1 der 30 e qUie-40
AT -

> weft weeT arfaard ¥
It is mandatory to answer all the questions.
> weal T FT HEAT 40 ¥ |
The total number of questions is 40.
> Yl e & fav 1 3w AuiRa §
Each question carries 1 mark.
> UA® N & AT IR ey R v &1 5o ¥ v @d Rew &1 99 AfFw |
Each question is provided with 4 options. Choose the correct option.
> Ied 3T & AT FE 3iF A FI& ST |

There will be no negative marking for any wrong answer.

1. 3¢ 57,91 e HT DI A1 Ug 27 87
Which term of the sequence 5,7,9........... is 27?
(a) 13" (b) 11
(c) 10™ (d) 12*

2. 0 9 & nal 7§ 4n+ 1 5 8Rf
The nth term of the series is 41 + 1. The series is in-
(a) G.P (b) A.P
(c)H.P (d) None of these
3. x &1 |4 7 B oY 8x + 4, 6x — 2, 2x + 7 GEI=R & | & WY |

The value of x suchthatx +4,6x — 2, 2x + 7 will forman A.Pis;
(a)15 (b) >
(c) 2 (d) None of these

4, 43R 199 99 4 FH=R 9rg BN :
The A.M between 4 and 19 are :
(a)7,10,13,16 (b) 15,12,9,16

(c) 16,13,10,7 (d) None of these
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5. 79 fawifsra 89 areil < sl ot fbaeh demg gl ?
How many two digit numbers are divisible by 7?
(a) 10 (b) 12

(c) 13 (d) 14
6. uﬁ%,a,ZW%ﬁg‘rma’ra:?

IF %, a,2 arein A.P, then a=?
(a)7/8 (b) 11/8

(c)5/6 (d) 3/8

7. 10 3R 200 & <9 O v ==l &1 AT 2|
The sum of all odd number between 10 and 200 is;

(a) 7450 (b) 7500
(c) 7560 (d) 7600
8. 9dt —2,—6—,—18 ......... q 7 UGl TP BT AT B
The sum of the series —2,—6—, —18. ........ upto 7" term is;
(a) 1094 (b) -1049
(c) -1094 (d) None of these

9. I 1+2+4+8+...... N UG] BT ANTHel B |
The sum of the series 1+2+4+8+...... n terms will be
(a)2"-1 (b)2n —1

(c) zin -1 (d) None of these

10. & B HAR Y& BT UG GAF § A T BET T @ ¢
If the ratio of the consecutive terms of a progression are same then it is known as :
(a) G.P (b) common difference

(c) A.P (d) None of these
11. IRr &1 99 3o (1) ¥ wurer e r > 1 8 Sn 8Fn |

If the value of r is more than 1 r>1, then s, will be equal to

a(1-r™) a(r"-1)
@)=/ (b) =———
(c) an (d) None of these
12. ’s‘{aﬁ§+%+§ ........ @ M= dP BT INTH § :
The sum up to infinity of the series % + % + % ........ is:
(a) % (b) Y4
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(c) (d) none of these

13. 4 3R 9 &1 Uit AR g |

GMof4and 9
(a)6.5 (b) 5.5
(c)9.01 (d) none of these

14. OGRS &1 <94l U
The 10" term of GP 24,12,6.......is?

(a) - (b) =
(c) = (d)

15. 7p,mR &
7p.is equal to
(a)o (b) 1

(c) 2 (d) 3

16 7!X5'«wEx 3
7! X 5!is equal to
(a) 5040 (b) 4920
(b)5703 (d) none
17. 8 TSP B M § g1 GHha B |
8 boys can form aringin;
(a) 8! (b) 7!
(c) 6! (d) 5!

18. “MONDAY” g & 3Rl B fhae AT T IR | A= &R 9o 2 |
How many different arrangements can be made with the letter of the word
“MONDAY”?

(a) 6! (b) 8!

(c) 4! (d) none of these

19. ¢ -c, waR B
¢, —%¢,is equal to
(a) °cq (b) *c,

(c) “cs (d) none

20. p, @1 AA
The value of 'p,is
(a) 4¥3%2%1 (b) 7*6*5*4
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(c) 7*4 (d) 7*6

21. % 1,2,3,4,5,6,7,8,9 9 100 3R 1000 & &= =T MY
number between 100 and 1000 with digit 1,2,3,4,5,6,7,8,9 will be

(a) °p; (b) °ps
(c) °pa (d) none

2 4
22. |5 G|meme

The value of [_21 g] will be

(a)10 (b)8
(c)5 (d) none
| ; g|$1 A B |

The value of |; g|

(a)é (b) 0
(c)3 (d)8

24, m%A—|x 2 x- 7|—0a’rx?mm=rsﬁ7rr|

The value of x if A = |x 2 x—7| =0

x—3
(a)3/2 (b) 5/2
(c)5 (d) none

1 1 2
25.9RT% 1 2 x=6T x &1 99 &N
1 0 2
1 1 2
If determinants 1 2 x =6, then find the value of x
1 0 2
(a)8 (b)5
(c)6 (d) 10

26. <) UfaT T B9 R ARG BT AN BN
The value of determinants if two row are equal

(a) -1 (b) 1
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(c)o (d) None of these

27. |192 i|aﬂm:f€ﬁm

The value of |192 Z|

(a)o (b)a
(c)6 (d)12

28.3fF A = [3 —58] o A’ BT H1 BRI |

2 5

If A = [ ] then the value of A’

7 -8
@[5 7 [ 7]
(c) [é —78] (d) [; _58]

29.!11%B=[_31 i]aa—ZBasTm:r%|

ep_[—1 2
The value of —2B if B = [ 3 4
2 4 -2 6
(a) [—6 8] (b) [ 4 8
2 -4
(c) [—6 —8] (d) none
2 x]_12 1
so.m%[y 0]-[4 O]a‘rxsﬁ'\rymm?rs’nﬂl
2 x]_12 1 .
If [y ol* [4 O] then the value of x and y will be
(a) X=1,y=4 (b) x=2,y=0
(c) x=4, y=0 (d) x=1,y=4

sLar A=t 2| e=[2 Sl a+ By @m

If A= [_11 g] B= [i i] then (4 + B)' will be

35]

5 4
3 4 (b)[4 3

(@ |
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(c) [g i (d) none

32.aﬁv=[g i]aﬁ?2x+y=[_13 g]aacma;gxmm%l

If Y= [g i] and2x +y = [_13 (2)] then value of Matrix x is
@ [ Tl o[ 7
(c) [_25 :3] (d) none

33. 49 $H gD QUG & Head BRI |
the set of positives integer less than 4 is
(a)(-1,0,1,2) (b) (-2,-1,0,3)
(c) (1,2,3) (d) (1,4)
34. | 99T Y 8 § dfa 3R dad Ife

Two sets are disjoint if and only if

(@QJANB=0¢ (b)ANB =@

() A—B =0 (d)A—-B =B
35.afx U={1,2,3, ......... 9},A=1{1,2,3,4,5},B = {6,7,8}} then
(a) A’ (b) b’
(c) A (d) none

36. A={1,2,3} g B={3,4,5} &1 99 3} 2

The symmetric difference of A={1,2,3} and B={3,4,5} is
(a){1,2,4,5} (b) {4,5}
(c) {1,2} (d) {2,5,1,4,3}

(3,6,7,8,9} is

37. IR AGTBr =@ s UdR g8 fd n(4) =90,n(B) =70n(AUB) = 150 @&

n(AnB) g

If A and B are two sets such that n(4) = 90, n(B) = 70n(AuU B) = 150

Thenn (AN B)is
(a)20 (b) 10
() 40 (d) 50
38. (AUB) N (A’ nB") W 7 (is equal to)
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(a)A (b)B

(c) U (d) @
39. Rea Iz W T Fl........B |
Null set is a............ of all sets
(a) Suag==d (sub set) (b) Raa wg==ra(Null set)

(c) srvem |z (single set) (d) none

40. 7 AT B 31 9= 39 USR ® f& n(A)=25, n(B)=17,n(AU B) = 35d9 n(A-B)®
If A and B are two sets such that n(A)=25, n(B)=17,n(AU B) = 35 then n(A-B) is
(a)18 (b) 17

(c) 10 (d) none
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sRgus AT serauer va ufdemor afwg, T (TREvs)

JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI (JHARKHAND)

YA WEfE ThET (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)

gfaeer g a3 ¥e-03
Model Question Paper SET-03
F471-12 (TTOTG) favg- sgraaie 1 | wHw- 1 "@er 30 Aae quTis-40

N

AT Aden-

>

>

et wear rfaard &

It is mandatory to answer all the questions.
weaAl Y FoT TEAT 40 ¥ |

The total number of questions is 40.

9AF T & v 1 3+ uifRa &

Each question carries 1 mark.

TAF N & AT IR {wew R v &1 5o ¥ v @d Reew &1 99a AfFw |

Each question is provided with 4 options. Choose the correct option.

TAd IW F AT S 3T AT FIE AT |

There will be no negative marking for any wrong answer.

3THH 5,14,23,000000ueen &1 2741 UG B AT BN |
27" term of the sequence 5,14,23..... is
(a) 239 (b)100

(c)900 (d)101

AN 5,7.9........ 21 TaT BT <9 g BAIT |

The last term of the series 5,7,9........ to 21 term is:

(a)aa (b)45
(c)a3 (d) none
43 &R 77 & g GErER AT BN |

The arithmetic mean between 43 and 77 is

(a) 60 (b) 50

(c) 70 (d) none

AEY 1434547+ @ n Ul BT AT

Sum of n terms of the series 1+3+5+7+............. Is
(a) 16 (b)25

(c)5 (d) n®
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WM n Uigfie SERil &1 9T 3

The sum of first n natural number is.......

(a) *22 (b)(n+1)(2n+1)
(c) n(nTH)Z (d) none
TR 21 1,3,5,7 e 99 # f&a ug B |
How many terms are 1,3,5,7........... 99

(a) 50 (b)30

(c) 90 (d)as

f&<dt s/ g®H 10,5,0,-5,-10........%T 10ai UG BN |

The 10" term of sequence 10,5,0,-5,-10........ is

(a)30 (b)35

(c)-35 (d)25

3 %4 5,7,9,11........ ST B9 9T Ug 27 BT |

Which term will be 27 of the sequence 5,7,9,11........7
(a)13™ (b)12™

(c) 11* (d)10™

& 579........ 2581 98 SN

The 25" term of the series 5,7.9........

(a)a4 (b)a5
(c) 43 (d) none
3141 0.04,0.02,1........ ST < U< B |
4™ term of the series 0.04,0.02,1........ is
(a)5 (b)o0.5
(c)1/5 (d)none
I x,y,z TR A H & A
If x,y,z are in G.P then
(a) y* = xz (b)y (x* +2*)=x(2* + y*)
(c) zy=x+z (d) none
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12.

13.

14.

15.

16.

17.

18.

afg a,b,c,d UK & # 81 @ |rEeuT (r) |

If a,b,c,d are in G.P then common ratio (r) will be

ab c ab c
@)= (b) ==, =
b c d
(c) === (d) none

I r &7 79 3B1E (1) | SureT maid r>1 8 @ s, BN
If value of ris more than 1i.e r>1,then s, will be
a a
(a) — (b) —
(c)na (d) none
B FEAT XY,z TONCR AT § TAT 6T X, Y, —8 AR AG H R, x, y & AF 8

The number of x,y,z are in GP and the number x,y,-8 are in A.P. The value of x,y
are

(a) 4,16 (b) 16,4
(c)Both (d) none
ORI & U NS Y&l &7 INT YoM IR Y&l & IRT P 5 AT &, AAJUd 2 |

The sum of first eight terms of G.P is five times, the sum of the first four terms . The
common ratio is

(a) V2 (b) V2

(c) both (d)none

AR ST BT USAT TN TT WIAaT U8 UIRKR ST A © 3R Wk 2 ¥ | TR AG Bl
TEIUS '

The 1%, second and 7" term of an A.P are in G.P and the common difference is 2.

The second term of the A.P is

(a) 5/2 (b)2

(c) 3/2 (d)1/2

a1 WETelt 4 3R 16 BT YUK AR BT AR -
The G.M of two numbers 4 and 16 shall be:
(a)8 (b)10

(c)o (d)12

afg k-1, (2k+1), (6k+3) are in G.P then K=?
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(a)7 (b)4
(c)-2 (d)o
19. 3T a,x,b iR S H & @

If a,x,b are in G.P then:

(a)x=ab (b)x*=ab
(c)x=2 (d)x=22

20. 4 FfaT 10 Wil I1 X1 ey # O B, 9 5% b oR A Al B R AT Heoll R Tl 8 |

4 persons go in railway compartment having 10 seat. In how many ways they may be
occupy the seat?

(a)pe (b)*°pa
(€)ca (d)*°cs
21. "p,=12 "p,, A N BT AN &
If "p,=12 "p, then the value of n is
(a)3 (b)-3
(c)6 (d)12
22.5 B! AR 4 FE(HAl B TP U 7 I UPR | TSI T AGd 8, 99 DY o ASH! b AT 7
)

In how many ways can 5 boys and 4 girls stand in a row so that no two girls are

together
(a)6! x 5! = 4! (b)°ps x 4
(c)’ps x2 (d)none

23. 3} "p,=3607r n FT A BT
if "p, =360 then the value of n will be
(a)-5 (b)-6
(c)6 (d)none

24."p, R ® ("p,is equal to)

tn o S
(o) —— (B ————
[ \n=r Ln-=t.
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25.

26.

27

28.

29.

30.

31.

f&et ot § 4 o SR 4 &RT TP TOPR AT R e ISR | 937 Gad 7, orad arg 9

2 3T Th A 7 &

In how many ways can a party of 4 men and 4 women be seated at a circular table,

so that the two women are not adjacent.
(a)164 (b)174

(c)144 (d)154

Afx 2c,=2%C 06, I BT A BTl

If %c,=*%c,.q ,find the value of r

(a) 10 (b)9

(c)8 (d)12

¢ + ¢, @1 9 2 (the value is-)

(a)716 (b)715

(c)710 (d)none

m%|1x8 i|=28€ﬁxaﬂm?r€ﬁﬂ

x 2| _
The value of x, If|18 x| =28
(a)x=+18 (b) x=(5,4)
(c) x=6,7 (d) x=9 or x=0

ARfrE &1 719 & (The value of determinant)

|1 3
2 5

(a)-1 (b)1
(c)2 (d)o

21ﬁ"|1xs i|=|168 §|m$m’%
If|1x8 i| =|168 §|thenxisequalto

(a)6 (b) £6
(c)-6 (d)o

Determinantis a............ matrix.

(a)square (b) triangle
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32.

33.

34.

35.

36.

37.

38.

(c)both (d)none

R P g ot ] fear o 9o g aft
(a) A= 0 (b) A= 0
(c) A= 1 (d) A= 1

m%A=[2 § 2],5Aaﬂmﬁﬁﬁn%?

IfA=[2 g 2,va|ueof5Ais?
40 10 15 4 10 5
(a) [20 25 30] (b) [2 25 30
10 20 3 4 1 15
(c)[so 25 5 (d)[z 2 30
1
afg A=(2|,B=[1 2 3]as BA@w A9 & (then the value of BA is )
3
1 2 3
@lz 4 6] (b)[1 4 9]
3 6 9
(c)[1 4] (d) none

afs A={a,b} @ ST ¥ B9 A o7 SUHg=E T8 7

If A= {a,b} then which one is not a subset of A

(a) {0} (b){a}
(c){b} (d)@

o 5 (let) A= {2,3,4}, B={3,4},c = {4,5,6} @ (then) AU(BN ¢) &
(a){3} (b){4}

(ci2,3,4} (d)none

& grouTel H 60% faenfil % i WRem @Iy # @R 70% faenfiAt % wshy =a Ao |
a1 faar | fraw uftree et 3 97 & o & g |

In a school 60% students contributed in national defence fund and 70% students
contributed in national saving scheme. How many students contributed in both the
scheme.

(2)20% (b)30%
(c)40% (d)35%
A—(BUC) =
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39.

40.

(a)(A-B) U (A-C) (b) (A-B) N (A-C)

(c)(A-B)u C (d) (A-Cc)uB

1,2,3,4,5 % °1d WY H @Al B G §

the number of elements in the power set of 1,2,3,4,5 are

(a)16 (b)32

(c)ed (d)8o

n(AuB) =80,n(B) =15 anm n (AN B) =58 @ n(A) & 99 Tan
Ifn(AU B) = 80,n(B) = 15and n (A N B) =5 then n(A4) will be
(a)70 (b) 65

(c) 60 (d) 55
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SREUs Afae sreTaTeT Td wiraTor aRwe, W (FREvs)

JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI (JHARKHAND)
T Frafae qiaT (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)

- qIfoT
gfagel wesT g dqe-1
Model Question Paper SET-1
FeTl-12 v saraas HHI- 1 T 30 qUITe-40
g e

AT fAéer:-
O gt v a1

It is mandatory to answer all the questions.

O seaAt A Fe HEAT40 ¢ |

The total number of questions is 40.

0 el g & faw 1 3 AuiRa §

Each question carries 1 mark.

0 9A® 9T F AT OR fAwed fRr e § | 597 @ v 6 Awew 1 gy fifaw
Each question is provided with 4 options. Choose the correct option.

0 Irerd 3R & fAT RIS 3w 7€ F1E ATGAN |

There will be no negative marking for any wrong answer.

1. gyaer ¢ -
Management is -
a) e (Art)
b) faae (Science)
c) e IR AR gAY (Art and science both)
d) saH @ :$ A8 ( None of these)

2. fFdY off g & Rew & ga@ 3WF raegsar § -

The foremost need for the development of a country is of -
a) #ifas wHEUT Y (Physical resources)
b) 3nfdF FHETYT Fr (Economic resources)
c) PUAA gaer $Y (Efficient management)

d) SH @ :E AG (None of these)
3. 8 ¥ @ RE aw yawr & Rqwia -

Principles of management given by Henry Fayol are -
a) 5
b) 10
c) 12
d) 14

4. Sfsl 3Re N & ITAER vaw & FH § -
According to George R. Terry the functions of Management are -

a) 4
b) 2
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c)
d)

6
5

5. [T T FT TOT &

Planning is the step of Management.

qgell (First)
qaU (Second)
R’ (Third)
A (Last)

6. IRT H e g-

a)
b)
c)
d)

Management in India is-

ATaFh(Necessary)
eATaIHR(Unnecessary)
Rrenf@ar(Luxury)

IH ¥ RIS AEI(None of these)

7. 3fAF Y9 & ITAF ¢ -

The father of scientific management is -

a)
b)
c)
d)

freray (Gilbreth)
Ugeq (Robertson)
& (Taylor)

Fqe (Fayol)

8. WWURNTA Yo # MRS F AgH & AT § -

a)
b)
c)
d)

Wages given to workers in traditional management are -

gAdHA (Minimum)
sf&Fas (Maximum)
AT (Zero)

gTH & FI$ AE (None of these)

9. fAgfaeior &-

a)
b)
c)
d)

Staffing is-

HISA FT AT (Part of organisation)

FATR 99T FT FA (Function of personnel management)
Y& HT FF (Function of o Management)

g Y (All of these)

10. vy & fAquial it @ i e 8-

a)
b)

The principles of management are formulated-

gARTRTAT & (In laboratory)
YatHl & AT <arr (By Experience of Management)
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c) AEH & AT <arT (By Experience of customers)
d) ST & :E A (None of these)

11. 4T T Fa IR g2
When was scientific management introduced?
a) 1983
b) 1913
c) 1903
d) 1923

12. gHTaATA FRAFR gEATaRoT & AT 3weRca & @y ge wfa amaas §
For effective delegation is essential to be accompanied with responsibility.

a) FSR (authority)

b) WeAfad (promotion)
c) WicHTgsT (incentives)
d) FUEIEROT (transfer)

13. Y& & AR § -
The essence of management is -
a) WIS (Organisation)
b) "H«AT (Co-ordination)
c) fagfFasor (staffing)
d) fa@SeT (Planning)

14. fFraYSTeT gxar § -

Planning is -
a) ¥dHe & fAT (For past)
b) sfasT & faw (For future)
c) adAT & fAT (For present)
d) @it & & (For all)

15. 9&Y ¥ fhde T g &7

How many levels are there in management?
a) 2
b) 3
c) 4
d 5

16. T& ST AT gl §-
A good plan is-
a) @l (expensive)
b) WHI A« Tl (time consuming)
c) arqef( flexible)
d) FI (rigid)

17. F=A1FHIOT &1 a9y grar §-

Centralisation refers to-
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b)
c)
d)

18.

b)

c)
d)

19.

23.

a)
b)

fachr ot & R A FWET @ (Keep powers of decision making with ourselves)

faokr o & IAFRY F1 M@IT FIET (Delegation of authorities in decision-making)
YT &Y o1 Feg AT (Creating division as profit centres)
AX Fegl JYaT AT@I3T FT WAAT (Open new centres or branches)

gl WA FT SA-H FIHT AT-
Henri Fayol was born in-
AT (India)
W (France)
el (China)
FARSFT (America)

A & anfaer &-
Planning involves -
FIAT HIT ¢ (what to do)

%T HIT § (when to do)
$Fq FT & (how to do)
39dFa @Y (all of these)

. ARTIOT fRAT ST HEAT -

Delegation can be done-

TSR FT (of authority)
3uveIffca FT (of responsibility)
SarEcal &1 (of accountability)
3RFd T3t FT (of all of the above)

g faaeor ¢ -
Staffing is-
fergYSter 3T (To plan)
faT=oT FIET (To control)
&R &A1 (To direction)
SgfFdAT Y R 9T T (To appoint the persons)

. dfee ey & fRedwor §-
Analysis in scientific management is-
25%
30%
50%
75%

e ¥ad: fAfda gar
organisation is automatically formed.

sitgaR&(Formal)
J=tgaiR& (Informal)
fasmefir (Divisional)
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d) fRITeHE® (Functional)

24. farafaf@a & ¥ Fla-u1 Wersd WU H@AT FT HTHIOT Tl FIAT §?
Which of the following does not follow the scalar chain?
a) FATCHS NS (Functional organisation)

b) WHTINRT HIST (Divisional structure)
c) 3itgEie WIS (Formal organisation)
d) 3relgaTie WISA (Informal organisation)

25. fFfaf@a & @ Fia Haor F1 dcq 7E &2
Which of the following is not an element of delegation?

a) SarEesl (Accountability)
b) 3fAFR (Authority)

c) 3IRaIAca (Responsibility)
d) FI;ST (Organisation)

26. faFT & & frad AT FRFR &1 gEaTaRor A1 Far s dFHar 82
For which of the following work Authority cannot be delegated?

a) &A% FRF (routine work)

b) MIUART F (secret work)
c) WRYT A (ordinary work)
d) TIT HI (easy work)

27. Afa AuRor =1 ¢ -

Policy determination is a work of-
a) 3T TANT YaEH! HT (High level managers)

b) HET TANT YaEHI FT (Middle level managers)
c) faFT TaT yaeus! 1 (Lower level managers)
d) 3ud @Y &1 (All of these)

28. WIS & Sftaer # o7t gl 8-

Recruitment in the life of organisation is done-
a) T&h & (Once)
b) & R (twice)
c) dar¥® (yearly)
d) fATET (continuous)

29. farAfaf@a & @ wla st A AT a8t 82
Which of the following is not a limitation of planning?

a) amdY gRfeufaat &y srfafadadar (uncertainty of future conditions)

b) 9aTed & &1 37HTT (lack of required flexibility)

c) wTEY fAg=or & W (helpful in effective controlling)

d) wafas fRAsew & gara & Ff&am$ (difficult in the selection of the best alternative)
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31.

a)
b)

d)

32

b)
c)
d)

33

. FHHAREY & e & aFafeq &-
Development of employees involves-

9gledAtd (promotion)
TYTATecROT (transfer)
gf¥&ToT (training)
F @sft (all these)

gHT HRMOT & AT F41 aTE 2
What is necessary for effective delegation?

& @ FRAUT (Facility to contact)

HEANT dYT §HaT T qId1aIor (atmosphere of co-operation and co-ordination )
HTAFRT HT TISE TISAFHIOT (clear explanation of authorities)

¥ Y (all of these)

. AT WS Yo # @iEAfad §-
Human resource management includes-

st (recruitment)
It (selection)
gf¥&ToT (training)
F @sft (all of these)
Y ¥ Rguia 7@t &
Principles of management are not-
gEaslA (universal)
e (flexible)
'\ti'qyi' (absolute)
cgagi& (behavioural)

. gfreqor fr AT T -

Methods of training are-

FIT dgal IIATOT (job rotation training)
FII 9T YIATOT (on-the-job training)
gfragar gfA&Tor (apprenticeship training)
F @sft (all of these)

. FHHATRAT T gfdvaTor §-
Employees training is -
ATaFs (necessary)
3eATa’Ieh (unnecessary)
FfAI (compulsory)

¢ $Y T4 (wastage of money)

et safFa &1 3o INFR & Ig W TAHERT A Fgd 2

Shifting of an employee to a position in which authorities are increased is called
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b)
c)
d)

37

b)
c)
d)

38

39

a)
b)
c)
d)

40.

gele=fa (Promotion)
3geifad (demotion)
fAdereT (direction)

g1 & FIS TS (none)

. ferafFasor T 3E AT Bl

Sta?fing is the responsibility of

ot Tl lJITsf?JI'(Lower level management)
HAEIA TAOT Y9+ (Middle level management)
3T T 99+ (Top level management)

goT THY &1 (All of these)

. &1 3527 -
Objective of development is-

Iqgar # gEfA (increase in capacity)

55 fasqred (better performance)

YeleAfad & IAGET (opportunity of promotion)
¥ Y (all these)

. FUCH TF AR F HTAR WIS AHAT F FEA o |

According to Koontz and O'Donnell, there are

~N o orh~

e ufthar &1 3ifad wea &ia ar 2
Which is the last step of the planning process?

steps in the organisation process.

a) d+feasw ali=wl 1 H\Tvmﬁ &1 (evaluating alternative courses of action)

b) 3eaedr A fAURE &I (determination of objectives)

c) A F F FAASS Sl T YT HIAT (selecting the best courses of action)
d) 3eade (follow up)
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SREUs A SeTaUTeT Td TRIaTor aRwe, W (FREvs)

JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI (JHARKHAND)

TYH Frafds qdaim (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)

ThI- aIfoTsy
gfagi wea a3 #e-02
Model Question Paper SET-02
Fail-12 R saraafRs srewaer | wo - 1 "erso0 Aee qUITEH-40

gAY fAder-
> wt weeTr feard §
It is mandatory to answer all the questions.
> el Y Fer TEAT 40 § |
The total number of questions is 40.
> UdE N & fav 1 3% uia §
Each question carries 1 mark.
TAF 73T & AT aR RFeq Ru v &1 sa987 ¥ & T RAdeq 1 990 AfSw |
Each question is provided with 4 options. Choose the correct option.
Tad 3 & AT FE 37w 7 F1E AT |

There will be no negative marking for any wrong answer.

Y

Y

LA AT FaaTaT ¢ 2

Which of the following statements is correct?

a) YUY UH 3@%‘& et AT & (management is a goal oriented process)

b) waY TF WEHRF AT § (management is a group activity)

c) UEY ARE Il & W«€fOd § (management is related with human efforts)
d) 3uwiaa @ (all of the above)

2. &efare wawer & Scutes @t ¥-
Production in scientific management is :

a)  3f&&adA (Maximum)
b) g dH (Minimum)
c) AT (Normal)

d)  3it@a (Average)

3. dfAF yae & HAF & T F guel F g 7

By scientific management working hours of workers are :

a)  g&f&r (Increased)



b) @Y (Decreased)

c) g YHIT el (No effect)
d) 3ilaa (Average)

4. 5T # @ FiF T 39ARN AFET F1 IFR AE 2

Which of the following is not a type of standing use plan?

a)  3¢&T (Objectives)

b)  #ifawm (Policies)

c) %A (Programmes)
d) faad (Rules)

5. fsT # @ *iT yaew @7 3q8e T B

Which of the following is an objective of management ?
a) @ 39l (Profit earning)

b) WIS FT fAR (Development of organisation)
c) afa YRor (Policy determination )
d) & @Y (All of these)

6. wesR& faaaY To &1 S=A # g3 a1l
Frederick Winslow Tayor was born in

a) oMl (Japan)

b) W= (France)

c) SHT (Germany)
d L THT(U.S.A)

7. F 3d 7 fFell w97 A FHT W Q@ FE

means completing a task on time.
a) A (efficiency)
b)  Wf$AT (process)
c) AT (plan)
d)  wHTEqTdT (effectiveness)
8. “YaY UF 9T §1” IT FUA §-
“Management is a profession.” This statement is of-

a) Sitet 3. & (George R. Terry)
b) &0 ®AT (Henry Fayol)
c) IR, ®W. 33" (R. C. Davis)

d) IANFT ga TWMRATAST (American Management Association)



9. i §-
Planning is :
a) @& HTAAE (Goal-oriented)
b) 3&e7 HfAFEY (Objective-oriented)
c) AATA® 9fhaT (Mental process).

d) ¥ =it (All the above)

10. T 3redY AT g #-
A good plan is :
a) @dfelt (Expensive)
b) AT A aTe (Time consuming)
c) "qgfad (Balanced)
d) It (Rigid)

11. FergHIor FT HY §-

Centralisation refers to -

a) ITAFR &1 ¥ROT (Retention of authority)
b) 3R &1 AT (Dispersal of authority)
c) AT Feg T fAATT (Creating profit centre)

d) sT9T %eg @rer=T (Opening new centre)

12. FATRAT A TWeaT W AR Far ¢

depends on the willingness of employees.

a) 3ttqa& HarssT (Formal organisation)
b) 3tettgaRe® WIS (Informal organisation)
c) fFaTeA® |IdaT (Functional organisation)

d) fasmiir "erasT (Divisional organisation)

13. r=tqaieE Hraer $iT gem A ¢ g §-

In case of informal organisation authority are-



a) fAFT (Decentralised)
b) & (Centralised)
c) A ™ & faafe (Equally distributed)

d) #$ g (None of these)

14. AFAf@T # ¥ F9 9HR F FF § Qv 3NFR F71 grdeawor g Far s aFar g 2
For which type of work authority cannot be delegated?

a) MU FRF (Secret work)
b) &% ®1F (Routine work)

c)  WYRT &1 (Ordinary work)

d) ¥IT FR (Easy work)

15. fagfaasor W g frar o ue §-

Money spent on staffing is -

a) 4T &Y F91EY (Wastage of money)
b) 31=1dTh (Unnecessary)

c) fafaasts (Investment)
d) 3T & F$ TET (None of these)

16. RgfFasoTe-
9
Staffing is-
a) WIS T AT (Part of organisation)
b) FHATR YE=Er FHT M (Function of employee management)

c) &= &T &1 (Function of management)

d) T |afY (All of these)

17. FHAARET FT TRIETT §-
Employee’s training is-
a) 3ATaRI+ (Necessary)
b) 3reTa’gsh (Unnecessary)

c) THY dY F91EY (Wastage of time)



d) ereT &Y F4Tdr (Wastage of money)

18. wAaRAt & R & afFafaa ad &
Development of employees does not include-

a)  Yglesifa (Promotion)

b) TYETAIOT (Transfer)

c)  3MABIRMAFUT (Retirement)
d)  9f¥&ToT (Training)

19. Jeureer @1 W IrenRa wrAfew R s -
Grouping of activities on the basis of product lines is a part of-
a) 3ART HISA &1 (delegated organization)
b) WHTT WIS &1 (divisional organization)
c) SATcH® HI6A T (functional organization)

d) FAAARAT WIS FT (autonomous organization)

20. forgfFaaor & aeta a3eT T Srar 8-
In staffing selection is done of -

a) fot Aoft & rf=FRAT F7 (lower level executives)
b) #EAH Aot & FAFINAT FT (middle level executives)
c) 3TuaA Avt & IfHINGT F7 (top level executives)
d)  39ied @Y &7 (all of them)

21. T & ¥ &l @ w1 W yfeor fr [/ a8
Which of the following is not a method of on-the-job training ?

a) fAfa=ara yfrator (Induction training)
b)  weISaRATAT FRALTOT (vestibule training)
c)  gfragar 9fAETOT (apprenticeship training)
d) ®FAS (conference)

22. AT WU yaey A wiEAfaa §-

Human resource management includes -
a)  #df (Recruitment)
b) =g (Selection)

c)  wfraTor (Recruitment)
d) ¥ @3t (All of these)



23. @it 3R FureeaRer Feiat ol & A Ik
Promotion and transfer are the main sources of recruitment.

a)  37dRe (internal)
b) dEd (external)
c) a3ikbgHEr (both aand b)

d) SAHA A RS AS (none of these)

24. et FHI FY UF FE F g I qEY FA W AIAAT Fgaral o

Shifting of an employee from one job to another is called-

a)  FYEIERYT (Transfer)

b)  &FmeT (Resignation)

c) &’ (Both)

d) SARARISTE (None of these)

25. WIdd & shiae & e fFar amar &

planning in the life of organisation is done-

a) T&h R (once)

b) & aR (Twice)

c) ®ft-waY (Occasionally)
d) fa=aT (Continuously)

26. AARf@d & ¥ Fl9 A9=T F1 97 IFR § S dfagafeat i Aot |W eAe & & @w IR R S
X

Which of the following is a type of plan made to keep a check on the activities of competitors?

a) 3ca?Y (Objectives)
b) AraEd) (Strategies)
c) o a1 (Rules)

d) Aifa=r (Policies)

27. fargfFasor -
Staffing is-

a) fa3ser #3471 (To plan)

b)  fAIEYT FIET (To control)

c) &R F=T (To direction)

d) fFaar & FF 9 T (To appoint the persons on work)

28. THATE! Y FBTAT &of AT HISA TIET I FHST ST 8-



The form of organisation encouraging remours is known as-

a)  Fenrdd "G (Centralised organisation)

b) fR&dFa H@awsT (Decentralised organisation)
c) I=lgae WIS (Informal organisation)

d) 3ilgaR® "IST (Formal organisation)

29. ISR F ARMIOT FT 3T § relaval F FT ARIOT FIAT|

Delegation of authority means delegation of to subordinates.

a) 3WGIAca HT (responsibility)

b) SHarEeg@r FT (accountability)

c) & &HT (work)

d) & vg gEafeua 3SR FT (work and related authority)

30. AT F YHTA T & AT 39T+ § & 3RaR¥cd § @y st gl
To make delegation effective it is necessary that responsibility is also delegated with

a) &R (Authority)

b) S«ufEd (Man power)

c)  Wiedrgs (Incentives)
d) 9ade (Promotion)

31. gAY TR T STar §-

Co-ordination is established-

a) TISEN & AL (between departments)

b) HHE & HEF (between groups)

C) YSY UG HATUIMNRE! & ALT (between management and workers)
d) 39ded @eft & 7T (between all the above)

32. g4deTH & e AT §

Supervisors come under management.
a) 3T9 TAOT 994 (Top level management)
b) ALY TAT &Y (Middle level management)
c) AT T30 99 (Lower level management)

d) IH ¥ FIE AS (none of these)

33. ¥ FTER, v Foaie w7 § wopg # Gafoa Aqsal § qur 39 F Ay Aagd F FHA WA wF
FA AT Far g1



According to , "Management is the art of getting things done through and with the people in
formally organised groups.”

a) ¥T&AS AFW (Stanley Vance)

b) Fveer AR 3rsAA(Koontz and O'Donnell)
c) &I wAY (Henry Fayol)

d) deT wwo F&T (Peter F. Drucker)

34. "ITAd WISA-UITAT AGATAF fASHIGeT Y Ul § TUT TBT dF 6 3q o€ FT &l & | "I HUT
FT 1

" Wrong organisation structure prevents business performance upto the extent that it destroys it. "This
statement is given by

a) g&Y (Drucker)
b)  ¥aeT (Allen)
c) & (Terry)

d) &R (Taylor)

35. 3YHH A WIST $T FATIAT HIET §-
In an enterprise, organisation is established by-

a) JITddH 9d«H (top management)
b) HEIH Y&« (middle management)
c) A% 9= (lower management)

d) saAH ¥ FI$ AE (None of these)

36. WIS F FEA FT Yod I F AT ggg A AT ST -
Comparehensive plan for accomplishing an organisation's goals is known as-

a) &ifa & T A (Policy)

b) &R%HA & T A (Programme)
c) 3682T F T A (Objective)

d) oY & ¥ 7 (Strategy)

37. fraSIer IfFAT T ggeT HEA FiT AT 82
Which is the first step of planning process ?
a) d=fous ali=wl 1 Ao FIA(Evaluating alternative courses of action)
b) 3g&edl A fAUIRG FT=AT(determination of objectives)

c) Y F F TIASS alldl T IIT HIAT (selecting the best courses of action)
d) 3radd(follow up)

38, gaRT e+ & ¥aad: AR g g



Management itself expands through

a) #RMIT (delegation)

b) FeRIIHIOT ( centralisation)

c) fa®edIHor (decentralisation)

d) 390Fa Wt F ganrr (all of the above)

39. Ueh Ty F) v &1 JFUFRYT & 3nger ureet gl arfev | 6 fAguia & & Rguid & A1 § ST AT

One subordinate should receive orders from one superior only. The principle is known as principle of

a) 32T FY THT (Unity of command)
b) fA&er Y weadr (unity of direction)
c) @YU HG@ell (scalar chain)

d) Ygeol &THAT (Initiative)

40. 5T A A FiT ST FT IFR AT 22

Which of the following is not a type of plan?
a) salc (Budget)
b) @I (Procedure)
c) FRIHH (Programmes)
d) 3FfREUIOM (Motivation)



SIREvs AWF Tau Ta qfator aRwg, A (FREUS)

JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI (JHARKHAND)
qyA grafds gdiar (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)
AHE- o=

gfagel oo 9T de-03
Model Question Paper SET-03

H8T-12 Ry FaaRe g HAYG- 1 °er 30 quTTeR-40
RAee

AT A&

>

>

A)
B)
Q)

aoft weeT rfaart & 1

It is mandatory to answer all the questions.

wesll Y FT HEAT 40 ¥ |

The total number of questions is 40.

UAF wed & v 1 3% fuifa & 1

Each question carries 1 mark.

TAF N & AT IR {wew R v &1 5o ¥ v @d Reew &1 99 AfFw |
Each question is provided with 4 options. Choose the correct option.

TAad 3 & AT FE 3w AL FIE ATGIA |

There will be no negative marking for any wrong answer.

YelotT hell ¢-

Management is an art of-

T FTH et T (doing work himself)

a;afr@a:maﬁr@r (taking work from others)

WWWWW@W@?@T ( for doing work himself and taking work from others)

D) saﬁﬁaﬁé’a%’r (None of these)

2. oI BTl & Teh-

Henri Fayol was a-

A)
B)
)

HHATS 3T (Social Scientist)

GoloT Sall{a1aR (Mining Engineer)
JIEIHR (Accountant)

D) 3cUles] SollfelaR (Production Engineer)

3. fe & & Fl-a1 CoR &1 YeletT T fAcHTed sTgl 87

Which of the following is not a principle of management given by Taylor?




INRCEIG Hﬁ?ﬁdcl\d I (Science, not rule of the Thumb)
B) FIATcHS PRAATRT (Functional foremanship)

C) 3MTERT &I TahdT (Unity of command)

D) Wﬂﬁ?ﬁffﬂ(mrmony not discord)

4. Tordll T &l e o [T Tt 1 ‘Ueh HAASS ARY Goell ARV | deATToteh Felotl hY hieT-H Aehoiieh bl 56
qrerg H 9N a fhar arar g?
Management should find ‘one best way’ to perform. Which technique of scientific

management is defined in this sentence ?

A) HHI I (Time study)

B) JTTT &I (Motion study)

C) YUahld YT (Fatigue study)
D) Yeufd LA (Method study)

5. TR T #7clf 3 T CIGEY
There are main sources of recruitment of workers.
A) 3
B) 2
C) 4
D) 5

Trainingisa...... process.

A) dre] (Current)
B) FUTcHS ( negative)
C) ¥dd (Continuous)

D) ﬁﬁﬁﬁé’ﬂﬁ (None of these)

7. Tl ey &l Teh 1 & BETehY QAR 1 TR SHITTeT §-
Shifting of an employee from one job to another is called-
A) TUTATAROT (Transfer)
B) <ITT (Resignation)
C) &Il (Both)
D) %ﬁﬁaﬂéﬂﬁ(None of these)



8. ST X EU 3ol FohaT A 37eITeTeh St HIHITSTeh Fersloel-Te gellell &-
A network of social relationship that arise spontaneous due to interaction at work is called-

A) WW(Formalorganisation)
B) 3T T (Informal organisation)
Q) W(Decentralisation)

D) 31edlUT (Delegation)

9. Shog 0T I dTcaY gl &-
Centralisation refers to-

A) Wﬁﬁﬁaﬁﬂaﬁg@am (Retention of decision making authority)
B) Aot et & 31TAHRY T foaERTa T (Dispersal of decision making authority)
C) YHTAIN I o1 hog, SIToTT (Creating divisions as profit centers)

D) T chogl 3TQT QW3 ST WielaT (opening new centres or branches)

10. YSI=] hT HTATTSTeh STRETcd &l Fehfcl 7 ST gl 8-
The nature of social responsibility of management applies):

A)  ShdT T HTTYTT &l [T (buyer beware)
B) faghdr hr Aratr=iT 1 T (seller beware)
C) s H A HIS Y FET (none of the two)
D) A3 BEHT (both A and B)

11. SR AT .. I arafAs Far gl

Assignment of authority is the primary art of

A) ﬁﬁ'?lﬂ( Direction )
B) faIAISTaT ( Planning)
C) TS ( Organisation )
D) "HHCII ( Coordination)

12. $TR ohY ATl 2l efiedY 3Ty ohT JH@ HRT ... I IAT |
The main cause of slow progress of India is the lack of.......
A) ?QWWU (efficient management)
B) #TAT AfFd (man power)

C) T (resources)
D) sﬂﬁﬁaﬂéﬂﬁ(None of these)



13. fAgfFcehior o) ooy foma aram e 8-

Money spent on staffing is-

A) 3TdIUh (Necessary)

B) 3eATdRTh (Unnecessary)
C) 3YcId (Wastage)

D) AT (Investment)

14, 9Tregor T Taferam g-
Methods of training are-

A) TFH (Conference)
B) gfreqomeft yfretor (Apprenticeship)
C) T<TITEYT (Lectures)

D) T THT (All of these)

15. GH-aT TG fmar Srar &-

Coordination is established -

A) mmﬂ‘zrqa’uaym(by top level management)

B) mmﬁﬁﬂm*aﬁm(by middle level management)
Q) ﬁmwﬂuq—q‘aaﬁm (by lower level management )

D) sﬂﬁﬁma?aﬁmﬂﬁ(none of these)

16. faéereT & 3deTd o= & & i O T afFafaa A8 &2

Which of the following activities is not included in direction?

A) TIJETUT ( supervision)
B) &idcd ( leadership)

C) HYYOT (communication)
D) fAASIT ( planning)

17. 94T T 9 el -
The nature of management is-

A)  SeHSTT T & T H (as an inborn ability)
B) g ufaar s s T & (as an acquired ability)
C) STedTd Ufas a2 31T Ufa#T sl & &I & (as inborn ability and as an acquired ability both)



18.

19.

D) s?lﬁﬁ?ﬂé'ﬂﬁ (None of these)

U&otT Sl AT AT T HaTTeeh YROT & aTelT 1 &-
Maximum incentive giving function of management of employees is:

A) FCIThaT (staffing)
B) 37THYRUT (motivation)
C) TS (organisation)

D) sﬂﬁ'?}laﬁé’o‘-@' (None of these)

o=t 7 O lT-AT H YT I TGS o RigHTed’ T Ga9Ss quid T g?
Which of the following statement best describes the principle of ‘Division of Work’?

A) mﬁaﬁ-@%mﬁﬁaﬁmmiac (Work should be divided into small tasks)
B) ¥ I [A¥ITSTel el TTTE U (Labour should be divided)
Q) TETEAT Y h1AT & [FHTTT AT ATfRT (Resources should be divided among jobs)

D) Ig T (all of these)

20. ATeTeh Jaet 3 SolX GaRT fehaT I FteT -

The experiments done by Taylor under scientific management were

A) 1T 37ETTT (Motion study)
B) YUahlod ITEITA AT HHY I (Fatigue study and time study)
C) T 3CTT, YT TETIA AT HHY ITETIA (Motion study, fatigue study and time study)

D) saﬁﬁaﬁé’aé’r (None of these)

21, U A& PRI

isa mental work.

A) 3c4iceT (Production)
B) 9Ydel (Management)
C) TI9UT (Marketing)

D) sﬂﬁ@'aﬁéﬂﬁ (None of these)

22. AR Fifed I HATUR |

Mental revolution is the essence of

A) IS T (Scientific Management)



B) TSIl (Combination)
Q) ICEEIERU (Rationalisation)
D) Y2l (Profession)

23. T & O T I1 GoraeT UThHaT Al UgelT TRUT &7

Which of the following is the first step of organising process?

A) TIHTIfeRTOT (departmentalization)

B) el bl 3Tdcs] (allotment of duties)

C) Y T YT U fAHTS (identification and division of work)
D) {-I(\tlo-llk; UTT et o T TATUT T (Establishing reporting relationship)

24. Teh 31T ATl gl &-
A good plan is-
A) Eﬁﬁ?ﬁ'(expensive)
B) THY ofel dTall (time consuming)
C) orquT (flexible)
D) HHIOT (rigid)

25. §oTC T A -
Budget refers to-

A) Tasares &1 TS I8 (Planned target of performance)

B) H1TAsT & FRIGEITT ST TANIT (Use of handling future activities)

C) HATYAT ST Hel [dcd’0T (Systematic action and allocation of resources)

D) 3TeAfead <t & et 7 faaror (Statement of expected costs expressed in numerical terms)

26. PFAfAf@a & T HiA-I1 AASTT &1 vk WAT 82

Which of the following is a limitation of planning?

NGRS GEIGIGRE qWWWWWMﬁHT% (Planning is generally biased and time
consuming)

B) mﬁ&ﬁﬁwm% (Planning is goal oriented)
C) forarster sfasa Fr 3fATTTAAT3I T ATHAT et & JIT FTdT 6 (Planning enables us to face future

uncertainties)

D) %ﬁmqﬁxﬁwalﬁraﬁm% (planning improves competitive strength)



27. foT 7 O IeT-HT 1 FelotT T 1 781 § ?
Which of the following is not a function of management ?
A) fAGFIRIOT (staffing)
B) SISt (Planning)
Q) IGEGEL (Controlling)
D) H&JMT (Co-operation)

28. HHAY (Coordination is)-

A) Y& HT H § (Function of management)
B) Yded HARE (The essence of management)
C) Ydedd WBE?QU%’ (An objective of management)

D) s?ﬂel'@lalflé' T STET (None of these)

29. ToR Ud Hhalel o HFTYT H To¥oT H T il AT HUT 3T 72
Which of the following statement is false about Taylor and Fayol?

A) WWWW mmﬁ:ﬁwﬂﬁws@ﬁw (Fayol was a mining engineer whereas
Taylor was a mechanical engineer)

B) el & FcuTed fafIse IRTEATIAT 7 oE] gl & STelfeh o & AT Aasiiife gld 8 (Fayol's
principle are applicable in specialised situation whereas Taylor's principles have universal application)

C) e o e Y TeAT AP 337 o GANT g5 AT ol oh FAeTerct B TeI=AT TRYETOT ZaT g5

(Fayol's principles were formed through personal experience whereas Taylor's principles were formed

through experimentations)
D) HaTel & FAgHTed Jaetr & TR TR AFLEI ¢ Sfalfeh Sol & [AGHTed HREM H 3cdTee 1 IR AR Bl &

(Fayol's principles are applicable at the top level of management whereas Taylor's principles are applicable

at the shop floor)

30. "9eT IR §T @ Gog H HANSA HTSAT T TUT IoTeh TTY TATS ol X HTH el Td il bl holl §1" TeTET
T g IRHATST fohareh SaRT &1 778 &7

"Management is the art of getting things done through and with the people in formally organised groups." Who has
given this definition of management?

A) U 3R 3'SIeTel (Koontz and O'Donnell)
B) e Utho F (Peter F. Drucker)

Q) WW(StanleyVance)

D) &I %Il (Henry Fayol)

31. Tl 1o Y TgeTTH AT T G el gl & |



Completing a task at minimum cost is called

A) EI'WH;U‘IHT ( effectiveness)
B) i’T‘\’ITleT ( efficiency)
C) 9fehaT ( process)

D) JTSTT ( plan)
32. TATelh FHST &Y o 39 3T 2|
Board of directors comes under management.

A) 3T T (Top level )
B) HEI T (Middle level)
C) =T T (Lower level)
D) Ig T (All of these)

33. A fofaa & & i GoraT FT T 8T 82
Which of the following is not an importance of organising?

A) Wmmﬁ@(increase in managerial efficiency)
B) AT YAl T 37Thdd 39T (optimum use of human efforts)
C) FH-IY I iALTeTeleh FaAT=TT (Facilitating coordination)
D) Wﬁq&’ﬁ (increase in corruption)
34. 5 # § it TS 3UATT JN1STAT 7 TR AdT 62

Which of the following is not a type of standing use plan?
A) 3?\?%21 (Objectives)

B) =AIfaaT (Policies)

Q) FrRIGH (Programmes)

D) f&& (Rules)

35. TSt UfehaT &7 Ul heH hiT ATR?

Which is the first step of the planning process ?

A) WWWWW (evaluating alternative courses of action)

B) ﬁ%ﬁﬁ%ﬂ‘fﬁ?—fm (determination of objectives)

Q) P FeT b IASS LT BT T AT (selecting the best courses of action)
D) 37efdcie (follow up)

36. A f@a & O i I YRS ST Agca A8 872



A) "HHIY ohl AT (means of coordination)

B) TS HR H ST (reduction in executive burden)

C) 3TefiTEAT o AT & FHAT (decrease in morale of subordinates)
D) 3refaEd 1 fQera (development of subordinates)

37. U, Sscg, CoR GaNT I GEceh "diTieleh  Teier & fAGHic" ol Yehrelel Hel Hg3man

The book "Principles of Scientific Management" written by F. W. Taylor was published in the year .

A) 1903
B) 1911
C) 1856
D) 1914

38. Al @a & O Fla-ar wdt 1 v sET Fa8?

Which of the following is an external source of recruitment?

A) TUTATAROT (transfer)
B) UglesIfcy (promotion)

C) SR CopIrep! (employment exchange)

D) Wa@’ﬁ (service extension)

39. Rrafaf@a & @ sia-ar ufieTor 1 Agca A8 &2

Which of the following is not an importance of training?

A) mﬁq@ (Increase in production)

B) TETEIAT ol Hel 39T (Proper utilisation of resources)
Q) géwﬁﬁqaﬁ(lncrease in accidents)

D) & AT H T (Decrease in labour problems)

40. AFATATET # & FleT AT HA TET &7

Which of the following order is correct?

A) 1ail -> Tt ->HTAETUT ( recruitment -> selection -> training)
B) dIA ->37dr -> §I’f§f&TUT( selection ->recruitment -> training)
Q) o7t -> wfRretor -> T ( recruitment -> training -> selection)
D) WTAETOT ->TIA -> E ] ( training -> selection -> recruitment)



sRgus At Ique v ufderor aRyg, W (FREUs)

JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI (JHARKHAND)
9YH drafds qiiar (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)

gfagel yead T #e-02
Model Question Paper SET-02
FET-12 fwa- sgafaar ¥HY- 1 "er 30 fAee qUTTEH-40

e fAder-

> Y e fAart § 1

It is mandatory to answer all the questions.
> wedl T FT AT 40 ¥ |
The total number of questions is 40.
> UeE e & faw 1 3w Fuifa &1
Each question carries 1 mark.
> U AF N & fav ax fFed Ru av §1 598 ¥ v 7 [ewew &1 a7 ffFw |
Each question is provided with 4 options. Choose the correct option.
> Idd 3 & AT FIE e A FIE FATCA |

There will be no negative marking for any wrong answer.

1. TH RIS & (A projectis) :

(37) IRER FATT (Family Welfare)

(e) ATTHT (Opportunity)

(%) Thet IfafAfer (Single Activities)

() afafaferat = HHE (Cluster of Activities)

2. mmﬁﬁmr% (Project report is a summary of):
(37) 24X T (Facts)

(d) H"\ﬂ'ﬂﬁﬁﬁv‘[ (Informations)

() AT T (Analysis)

(&) 3 Y (All these)

3. qﬁ‘q’lm?hﬂaﬁrawh% (Project is prepared):
(37) wﬂﬁapm(sy Promoters)

() FHT-WE@RT (By Managers)

(H) mwhapm (By Entrepreneurs)

() s?rmﬁa:apm(sy all these)

4. IRASAT & IR e WA fFAr g 8 (Money spent on the preparation of project is): (37) Aferatsrer

(Investment)
() ©IT (Expenditure)
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() 9T (Wastage)

(@) s?lﬁ‘ dHS Tt (None of these)

5. SqUY fagsteT &1 EI'{l_,'@' Hgcd % (The main importance of business planning is):
(3n)fraeratan &Y 3R T FI A (in attracting investors)

©)) - 7 (in providing guidelines)

(§) 39Tt AfFT UeTd A H (in providing leverage)

(&) 394FT & (all of the above)

6. fAISIsT 8T & (Planning is for) :
(31) T & T (past)

() 91T &F faT (future)

(&) IIATT & foIT (present)

(3) Tt & A (all)

7. g9a e & anfde e § (The activities included in business planning are)-
(31" FT A (planning the organisation)
(T AfFa Y raegwar F1 AAST (planning the manpower requirement)
(@)IRASAT ™ #1 fAAST (planning of project work)
(@)39dFa |l (All of the above)

8. WW%(Modemisation improves) :
(37) 3CUTGT (Products) &Y

(&) 3cUTEST (Production) &Y

(F) afRAT3iT (Processes) &Y

(&) &TCT (Capacity) FY

9. Tt & @ FleT A 35TH AT YT F FAT IRTPorF g Irawur F anforer s1di 82 (Which of following is not

included is pre-start up stage while starting of a new venture ?)

(37) SATTHTRAS FTUROM Y IgHT (Indentification of business concept)
(&) TaiT AT (Financial planning)

(H) 3cUTE IR €I (Product market study)

(&) IRTFTS Tefer raEAT (Early growth stage)

10. T 3= AT @Yt & (A good plan is)
(37) gfely (expensive)
() AT oA gl (time consuming)
(¥) ST (flexible)
(@) FhIT (rigid)
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11. T %l mﬁﬁaﬁw g et aor g I (A successful entrepreneur must possess the quality of the

following):

(37) AT FT (Leadership)
(§) AT T (Control)

(") A99adsT T (Innovation)
(&) ST | Y (All of these)

12. I 3cUTE BI YA 9T FHTAT 81 ) Teh 36 FAT STTH & FRHITET Y THeg T 872 (An entrepreneur

prefers whichform of organisation if production is to be undertaken
on small scale basis?)

(37) TShTEhT SATI (Sole Trade)

(&) WTSIEHT (Partnership)

(¥) FFIAT (Company)

() saﬁ d IE ABT (None of these)

13. QYT ITUROT FT AgT & (Importance of marketing concept is for ) -
(37)FHTST & AT (Society)

(@)3usiaarst F fAT (consumers)

(F)3curgd & faT (producers)

()3T it F faw (all the three)

14.c4dHTT &1 H@TWETIT% (What is fundamental of business):
(37) 34 (Finance)

() AT (Leadership)

(%) ROt (Marketing)

() gaﬁ # IE ABT (None of these)

15. 99U &1 sl Fd & (Life blood of business is):
(37) 43 (Capital)

(&) ©IIFY (Goodwill)

(&) #efT (Machine)

(&) ST | FIE ST (None of these)

16.395h A Y TATIT 7 enfAer % (Including establishment of
enterprises):

(37) h=dT ATl (Raw Material)

() 9fadee (Report)

(%) SATH-gIfa (Profit-Loss)
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(@) Eﬁﬂ:ﬂ’lﬁff (Technology)

17.39%H TdI & ATaTF dcd % (Essential elements of selection of an enterprises)
(37) IMIAIET (Secrecy)

() STTTETIAS AT (Business Activity)

(W) IR=ETeIeT &1 &1 (Area of operation)

(&) 3131 T3 (All of these)

18.395hH T AT FId TAT €I &t AT g 2 (The point which considered while selecting an enterprice
is):

(31) 34t (Product)

(&) fa9oTeT (Marketing)

(%) ﬁ;ﬁﬁ'#m (Availability of Capital)

(@ ﬂﬁﬁﬁ'@'ﬁ?ﬂﬁ' (None of these)

19. . TATIAT H AT & (Easy in formation is) :
(37) TShTEhY SATI (Sole Trading)

(«) H@E‘Iﬂ"ﬂi’ (Partnership Firm)

(H) H’g’&‘d"i:?ﬁ'ﬂq?ﬁ' (Joint Stock Company)
(2) Wﬁﬁ'qﬂ?ﬂﬁ (None of these)

20. fFT 7 ¥ FFAT 3cTE AT /AT T TATT FIA TAT EATT TGAT S 7781 82 (Which of the following is not to
be considered while selecting a product or service ?)
) 6T T ferafRor (Marketing Assessment)

) SATGEIedT (Practicability)
(&) gfaAAaT (Competition)
(&) 3cure fAAYSTeT (Product Planning)

21.& 35gH Y qEY 3YcIfed gl & (Main achievement of an entrepreneur is):
(37) HATHT (Profit)

(«) 'HT:I"@ (Promotion)

(¥) 30T (Quality)

(S) TSI (Market)

22. 39h A PT IoTld freix AT ¥ (Selection of an enterprise depends on):
(37) ThThY SATIR (Sole Trading)

() T &1 ATUFR (Right of Entrepreneur)

(T) TTEHY Y T Y A13TCT (Self Ability of Entrepreneur)

(@) 3":I'!§_,Tcl' 7Y FIS Tt (None of these)
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23. ﬁyﬁq\sﬂﬁwmgﬁ% (Venture capital view was origin in):
(37) TR H (India)

(d) 31?"03' # (England)

(@) IARFTH (America)

() ST9TeT # (Japan)

24. HIgH T C ) %‘ (Duties of ventures is):
(37) HeAToT aq\r»fr (Profit recovery)

() T T (Tax evasion)

(&) TaTaIor 9GHUT (Environment polution)
(&) T | FIE ST (None of these)

ZSWWﬁmﬁHW% (Which of the following is included in profit appraisal):
(31) 3T eI (Economic help)

() TE=IhIT HETIAT (Managerial help)

(W) dTHheAThT WEMACT (Technical help)

(&) 375 Tt (All of these)

26. maﬁmﬁra“rﬁmﬁ#mm% ? (Market Demand is also known as)
(37) ATr Y ARSI (Demand Forecasting)

() arEafas AT (Real Demand)

() qfef (Supply)

() gaﬁ # HIE ABT (None of these)

27. 3&F VAT § (Subsidy is) :
(31) R=9TI (Concession)

(&) SI€CT (Discount)

(¥) YoT: aTdTeT (Repayment)

(2) sﬂﬁ' '\#aﬁé Tl (None of these)

28. {51 # ¥ FlF TWEROT FTIFR 2
(Which of the following is a type of environment?)

(37) AT Y& TFTEIT (Internal environment)
() 18T qTgor (External environment)

() 3'=|'~’:iTc|'3Ta'a' (Both A and B above)

(2) WH’HWH’E’ (Neither A nor B above)
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29. mﬁmaﬁﬁm"ﬁm‘rﬁaaﬂa"r% (Economic policies determine the):
(37) =TaHTH &Y ATAT (Volume of Business)

(&) =TaaTT ¥ f&2AT (Direction of Business)

(&) sTaETT i e vg AT (Direction and Volume of Business)

(@) sFl'# '\‘TEI?I? Tl (None of these)

30. faoreT Fasa & A g (Is included in nature of Marketing):
(37) ATgh (Customer)

() 3c9Tesh (Manufacturer)

(&) 3cutee fAASIeT (Production planning)

(&) fa= (Selling)

31. fF=T # & FI9-971 3THT HTYFR &2 (Which of the following is a kind of opportunities?)
(37) 9YH ITHT (First opportunity)

(a) Afda 3w (Created opportunity)

(¥) T3 319 (Last opportunity)

() saﬁ ¥ E ABT (None of the these)

protection):

(37) qTaor (Environment)
() 37ererY (Shareholders)
(H) FAAR (Employees)
(q) ATgh (Customers)

33, FTgHT Y FTHAAT T & SNTRA 33T &1 (Entrepreneur take risk for earning)
(37) oI (Profit)

() g1 (Loss)

(W) ©FTFY (Goodwill)

() 3?# # FIE ABT (None of these)

34, mmiﬁ'ﬁm@?ﬁ%a‘ﬁﬁ% (The products. which are in more demand are):
(37) 31T ATHUE (More profitable)

() 31f& gTfT RS (More loss-making)

(F) o ATHYE T & gl RS (Neither profitable nor loss making)

(@ ﬂéﬁﬁ'@‘ﬂ-ﬂé’ﬂﬁ (None of the above)
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35. faqureT =7 HIX @ (Marketing expenditure is a burden) -
(313N 9T (on industry)
(§)sgaaTAAT 9T (on businessmen)
(W)3INEFa13it 9T (on consumers)
()3 ¥ T 9 (all of these)

36. Fg< ARaw gfawwe’ FY e F 7@ gU SEHH aEqt IR FanHt Fr @ARG ... GARTT AT IRy

%‘(An entrepreneur is necessary determined of products and services in attention of increasing global
competition):

(37) I[OTEE (Quality)

() YA (Cost)

() IATI/HATeTh (Standard)

(&) IIR (Advertisement)

37. IRASAT e & Fafeud 181 g (Project. is not. Concerned with):
(31) TR (Risk)

(<) YToTdT (Creativity)

(¥) sTa9Gd (Innovation)

(&) FeeT AP (Vision)

38. fAASIT @Y1 # (Planning is) :

(37) 3Te9UhTeNe (short-term)

() AEIHTNA (middle-term)

(&) ErdepTelleT (long-term)

() w3 3raferaY & faw (for all terms)

39. mmmwmm% (A main cause of business failure is):
(37) HHASIR T+ (Weak management)

() mﬁ;\?ﬁ (Insufficient capital)

(H) aﬁgurm (Unskilled labour)

(&) BT TSR (Small market)

40. 3TeT faeayor grafrua g (Input analysis is related to):

(37) THTET Y ITTRI RT3 T (Requirements of resources)

() | Y 3T S a3t @ (Requirements of resources)

(|) 53 Y ITTIFHAT3HT F (Requirement of labour)

(&) P TEAT A ITFTLIFH AT T (Requirement of fund arrangement)
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* * 4
sREus MAw IerauE va gferor aRye, W= (RE0s)
JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI (JHARKHAND)

9YH drafds qiiar (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)

gfagel wesT 9T #e-01
Model Question Paper SET-01

FaTT-12 fwa- seafaar ¥HT- 1 wer 30 fAete qUITH-40
e fAder-

> Y e fAart § 1

It is mandatory to answer all the questions.
> wedl T FT AT 40 ¥ |
The total number of questions is 40.
> UeE e & faw 1 3w Fuifa &1
Each question carries 1 mark.
> U AF N & fav ax fFed Ru av §1 598 ¥ v 7 [ewew &1 a7 ffFw |
Each question is provided with 4 options. Choose the correct option.
> Idd 3 & AT FIE e A FIE FATCA |

There will be no negative marking for any wrong answer.

1. oaeeT g

(Planning is) :

(31) H’&T—B@ﬂ@ (goal-oriented)

() 3EERT-HTHFET (objective-oriented)
(&) ATIRAS 9fHAT (Mental Process)

(€) T T3 (All these)

2. A% # & Fla-A1 gew IR HedTeha I THTE STelcl 82
(Which of the following factors affect market assessment?)
(37) §&H ATATAROT (Micro Environment)

() 3<9TE; Y AT (Production Cost)
(H) ATaT (Demand)

(&) 3T ¥ F1E LT (None of these)

3. U@ IRATSAT

(A projectis) :

(31) IRGR FEIATT (Family Welfare)

(&) ATTHT (Opportunity)

(&) wher AR (Single Activities)
(HEIGIGIERIED HHE (Cluster of Activities)

4. Aer qaTeTATeT 7 anfAer ¢:
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(Is included in demand forecasting):

(37) 3reqhTell q@ﬁﬂﬂﬁ (Short term forecasting)
() Erdeprelter ':I‘@ﬁ??lﬁ (Long terms forecasting)
(&) 39sitrar tl@‘lﬂ'«l:lﬁ (Consumer forecasting)
(%) _9oreT ':I‘@ﬁ??lﬁ (marketing forecasting)

5. 3‘(.'\311=l°f FTEAST F IfaaRcad (Entrepreneur's Responsibility towards society):
(31) TATERT F ufa TSI (Responsibility towards the customers)

() FoTeTdT & 9 3TREIR—Aa (Responsibility towards the creditors)

(H) 91T & 9 3eeiRca (Responsibility towards the Environment)

() Tsft F 9fa (Toward the all)

6. mm#ﬂhmﬁ%a‘m% (The products, which are in more demand are):

(31) 37T ATHYS (More profitable)

() 37T gTIfa RS (More loss-making)

(W) o ATHYG o & gl RS (Neither profitable nor loss making)
(@ ﬂﬂﬁﬁ'@'ﬁ?ﬂﬁ' (None of the above)

7. gIgH...... F FTHAT A & QA 3ol (Entrepreneur take risk for earning.......)
(37) o3 (Profit)

() &TfeT (Loss)

(@) T (Goodwill)

() gaﬁ # IE ABT (None of these)

8. 3nfds werar ¢:
(Subsidy is) :

(31) RATIE (Concession)

(«) 9I<<T (Discount)

(¥) GeT: 3{aTcTeT (Repayment)

(2) sﬂﬁ' '\#aﬁé Tl (None of these)

9. fFaT & A FleT waTaor HT yFR &2
(Which of the following is a type of environment?)

(37) 3T e IATATT (Internal environment)
() 18T qTgor (External environment)

(H) sqﬂ'ercraraa (Both A and Babove)

(@ mﬂa—cr;raraﬁr;ra (Neither A nor Babove)

10. 7T H @ FleT-A1 SHGATRAF TET Y g FF IHITAT FIT aTeT geh 82
(Which of the following factors affecting
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identification of business opportunities?)
(37) e AT A ATET (Volume of internal demand)

() AT 3199 (Created opportunity)
(%) qfaIor & ﬁa:q'ﬂ'l?-l' HTHT (Existing opportunities in the environment)
(2) 3"4'413'?{ 7Y FIS TeY (None of the above)

11. YOS FFafeea 7g gy §
(Incentives are not concerned with):
(37) @< (Rebate)

() FT A FFT (Exemption from Tax)
(@ & fl:\\_:ﬁ I ITHTel (Provision of seed capital)
() THHAIT ITAT (Lump-sum Payment)

12. 9T I1dTEaT, S afFaat @ AT T v gar d

(External environment which is composed of forces that have a general influence on):

(37) 39sh A <Tde (Enterprise Behaviour)

() FHERY FTTTER (Employee's Behaviour)
(W) TG FTSTGER (Promoter’s Behaviour)
(&) Id¢T bl <TdgX (Management Behaviour)

13. fawr & @ Fler Afor QAo A aFAfT FRE 2
(Which of the following is a factor involved in demand forecasting?)

(37) q‘\ﬂﬁ?_l_,ﬂﬁ &I TFaTS (Length of forecasting)
©)) q@ﬂﬂm F EX (Levels of forecasting)

(F) 39T FT T THTOT (Classification of product)
(&) 39 @Y (All of the above)

14. 7T A A FIe7-91 37qWT A FT dca &2 (Which of the following is an element of sensing the opportunities?)

(31) GaST FY AP (Ability to perceive)

() gRacist 9T A (Insight into the change)
() AqUadAT aor (Innovative quality)

(<) 3?# I st (All of these)

15. ISR HAediaa & forv fArafaf@a ard sraeas 8

(Following things are necessary for market assessment):
(31 TFF (Supply)

() ATT (Demand)

(@) wfaEqeT Fﬁjﬁ' (Nature of competition)

() 3'“1'{13'? Y (All of the above)

Page 3 of 8



16. ATEH FTHAT §
(Duties of ventures is):
(37) HeIToT aq\r»fr (Profit recovery)

(&) T AT (Tax evasion)
(¥) TaTEIor 9G¥ (Environment pollution)
(2) 3?11? dhe TeY (None of these)

17. 9IS HW £ ) aﬁ‘aﬁaw% (Which of the following is included in profit appraisal):

(37) i ggran (Economic help)

() TP T HETAAT (Managerial help)
(¥) dhilehY WETACT (Technical help)
(&) 375 Tt (All of these)

18. T 3T F HET 3qafow gl &

(Main achievement of an entrepreneur is):
(37) HATRT (Profit)

(%) Ha‘_?{ﬁ' (Promotion)

(|) 0T (Quality)

(c) dTSIX (Market)

19. =T & § FFEHT 3¢S AT /AT FT AT FI AT CATA THAT STH 82

(Which of the following factors is to be
considered while selecting a product or service ?)

(31) 94T (Competition)

(&) 3T AT (Cost of production)
() SIT3T Y GFEATTAT (Profit possibility)
(<) 3'q1.i_,a-—¢r Y (All of the above)

20. 39 FT AT IR FATE
(Selection of an enterprise depends on):
(37) THhThY SATIR (Sole Trading)

() T &1 ATUFR (Right of Entrepreneur)
() ATgH Y T Y FTFCT (Self Ability of Entrepreneur)
() 3'T{13-_cl' 7 1S AET (None of these)

z1.mmgmaﬂﬁm€qmaﬁznwﬁ?g%:

(The point which considered while selecting an enterprise is):
(37) 391 (Product)

() TA9UTeT (Marketing)
(¥) it Y STSSET (Availability of Capital)
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(@) 3":I'¢!Tcl' 7Y FIS Tt (None of these)

22. 3YHHA I F HETH dcd ¢:
(Essential elements of selection of an enterprises)

(37) IMIHTET (Secrecy)

() saTaETiAS AT (Business Activity)
(%) TR=TereT &1 &1 (Area of operation)
(&) 3131 T3 (All of these)

23. ﬁa@ﬁmmmﬁwmgm (Implement of Industrial Licencing Act):

(37) 1751
() 1852
() 1951
(&) 1972

24. STIHT HT a7 T §:
(Life blood of business is):
(37) oY (Capital)

() &I (Goodwill)

(&) #efeT (Machine)

(&) 3T A F1E AET (None of these)

25. STTHTT T HATUR FAT 8
(What is fundamental of business):
(37) a4 (Finance)

(@) AT (Leadership)

(%) 9T (Marketing)

(&) 3T ¥ F1E AET (None of these)

26. T Wl 3GAHT 7 IaRT &Y fore=T o1 191 =IRR,

(A successful entrepreneur must possess the quality of the following):

(37) AT FT (Leadership)
(&) fTI==A9T FT (Control)

() Aquad &1 (Innovation)
(<) 3?# I st (All of these)

27. SeFHY it AR See=T gam &
(Venture capital view was originated in):
(37) R #H (India)

() 31@'03'31' (England)
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(&) 3ARFTH (America)
(<) SITqTeT # (Japan)

28. I 3cUTEeT BIT YA 9T AT &) A U 3eTAT TqaT & fFH IR Y THeg FIaT 82 (An entrepreneur
prefers which form of organisation if production is to be undertaken on small scale basis?)
(37) THTHY SITIR (Sole Trade)

() |TEterY (Partnership)
() HFIAT (Company)
(@) sFl'# '\‘TEI?I? Tl (None of these)

29. ST F .......oo.. Y gaaTT F YT I fAuTRa Far g
(The.............. of business also determines the form of organisation.)
(37) AT (Size)

() TUTT (Location)
() reTYeT (Study)
(2) g;r# ﬂ'ﬂ'ﬂé’ C Rl (None of these)

30. IRANTT &1 Sa-gs Ao f@a @ grafua adiaare

(Project life cycle is not concerned with the following):

(37) ﬁﬁ'q’rar-qj TIIOT (Pre-investment stage)
(e) TIATcHS °II0T (Constructive stage)
(¥) FTATAIHIOT TIOT (Normalisation stage)
(&) FEUdisToT =0T (Stabilisation stage)

31. ST graT @
(Planning is for) :

(37) aagmar%ﬁv (past)
(7) s1fAsT &F faw (future)
(W) TIATT &F fAT (present)

() T3 & forw (all)

32. IYSHIOIT & TATOHIOT A FHAT T &

(Lack of standardisation of the equipment is due to):

(37) 3= e STE3iT A (Internal constraints)
() STET STUTHAT F (External constraints)

(F) IR STE3T A (Government barriers)
(&) FraTHS STETHT & (Regulatory barriers)

33." fAaerer sifasy Y yswsa & AT samam T AR §1" 98 F9a § ("A plan is a trap to capture the
future." This statement is of) --
(31) =gAs (Newman)
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(@) ¥t (Allen)
(@) & (Hurley)
(@) & (Terry)

34. IRASTAT 9gdTeT # TaIFHar gidY %‘ (In project identification is needed ) -
(31) 3re71@ (Experience)

(&) AT®TSH *1 39T (Use of mind)

(W) 3r797d va ARFASFH T 39ANT Sl (Both Experience and use of mind)

(€) 3H & +I$ AL (None of these)

35, IRASAT it & FFafeud w181 gt
(Project is not concerned with):

(37) AavadeT (Innovation)
() Fo9=T ATFT (Vision)
(&) SHT/H (Risk)

() STeTdT (Creativity)

35. IRASAT AR A ST &
(Project is prepared):

(37) Ta<iehI §aRT (By Promoters)
() Y=} gaRT (By Managers)
(/) 36T+ gaRT (By Entrepreneurs)
(€) EWQ;W(BV all these)

37. HTTARFHIOT FURAT§
(Modernization improves) :
(37) 391G &Y (To product)

() 3cUTEST Y (To production)
(¥) 9134 Y (To processes)
(&) &THT &Y (To capacity)

38. TRATST yfades g &

(Project report is a summary of):
(37) TIX T (Facts)

(9) 'a@msﬁrﬂ (Informations)
(¥) T3 STOT F7 (Analysis)
(&) T T (All these)

39. 3YSHHA I TTIATH AT &
(Including establishment of enterprises):
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(37) h=dT ATl (Raw Material)
() 9fadee (Report)

() msT-gifeT (Profit-Loss)

(8) Sl fAHY (Technology)

40. fFT # @ FleT 7T 35TH A YT FY HITATAG 21

Which of the following is not a stage of starting a new venture?
(37) mqﬁm (pre startup stage)

(,)9R T 31aEAT (startup stage)
() 39T TSI ATEAT (product market stage)
HEICED] agﬁrm (later growth stage)

41. STt 3. aﬁﬂ:mm#m% (According to George R. Terry, the types of planning are) :
(318
(T)6
(W) a
(@2
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SIREvs AWF Tau Ta qfator aRwg, A (FREUS)

JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI (JHARKHAND)

9YH drafds qiiar (2021- 2022)
FIRST TERMINAL EXAMINATION (2021-2022)

gfage gea o= #e-03
Model Question Paper SET-03

FaTT-12 fawar- sgafaar ¥AI- 1 "er 30 fAse qurie-40

AT Ader:-

>

ot weer wfeard § 1

It is mandatory to answer all the questions.

wesll Y FT HEAT 40 ¥ |

The total number of questions is 40.

yd® T & faw 1 3w Fuifa § 1

Each question carries 1 mark.

9AF 1T & AT IR RAwew R v &1 g7 & v d@d RAFeq F1 999 AT |
Each question is provided with 4 options. Choose the correct option.

TAad 3 & AT FE 3w AL HIE ATH |

There will be no negative marking for any wrong answer.

qRAYSAT gfadesr WRier & (Project report is a summary of ) -
(31) azaY #r (Facts)
(&) waen3it 7 (Informations)
(®) Reawor &1 (Analysis)
(@) & @sft &1 (All of these)

fAFT & @ *l9 @1 3gw F71 9HR &2 (Which of the following is a kind of opportunities?
(31) 9¥A 3qAX (First opportunity)

() 3fas 3rq@T (Last opportunity)

(@) AT @@ (Created Opportunity)

(T) 3% & FE & (None of these)

fd% Fegrar & (Subsidy is) -

(31) seer (Discount)

(@) gT: T (Repayment)

(&) Raraa (Concession)

(@) a8 & HE A (None of these)

faer & & Fla @nr gElgae # @3 @@t § 2 (Which of the following is not a method of demand
forecasting?)
(3r) wifeghr fafr (Statistical method)

(8) 3earest fafer (Production method)

Page 1of 7



10.

(@) |deror A (Survey method)
(&) #nigela e R (Leading indication method)

s Afawr .......Auia st §--(Economic policies determine the.....)
(31) sggar $r f&am (Direction of business)
() sggar €t fem 3iv AT (Direction and volume of business)
() sagarm & AT (Volume of business)
(&) 31 ¥ +§ gt (None of these)

qER HedFT H FleT AT ded Fenfaa @@ &I 8?2 (Which element does not affect market
assessment?)
(37) g&# araraver (Micro environment)

(€) #ATer (Demand)
(@) fagorer AegEw (Market Intermediaries)
(&) wfaayeft (Competitor)

e & & RrweT 3c9g a1 da1 F1 gAT A FAT A @A S0 781 82 (Which of the following is
not to be considered while selecting a product or service?)

(31) sgag&ar (Practicability)

(8) IR F1 fAuRor (Market assessment)

(¥) 3eurg s (Product planning)

(@) gfeaf@rar (Competition)

3UHH FT oIl FId AT €A &1 AT g & (The points to be considered while selecting an
Enterpriseis) --

(31) 3eurg (Product)

() g @ Iuestrar (Availability of capital)

(®) 9ot (Marketing)

(@) a8 ¥ FE 7€ (None of these)

AU FT ... 5 ATET & 979 1 ARG Far & (The ... of a business also determines the
form of organisation) --

(31) HHR (Size)

(&) ¥gTeT (Location)

(¥) 3regg=T (Study)

(@) a8 & HE A (None of these)

......... ok & qoiar @ Rufa # gioa Fwar e ot siaa: [ va amr & ggfr w3ar 81 (...creates
perfection in the market which ultimately increases the volume of sale and profit.)
(31) wad« (Promotion)

(7) sTagad=r (Innovation)
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(W) 39dFa @ (Both of the above)
(&) 31 ¥ +§ gt (None of the above)

11. " s #fasy #) gehsa & fAv s« = AR §1" 98 F9a § ("A plan is a trap to capture the
future." This statement is of) --
(31) =gAs (Newman)
(&) ¥t (Allen)
(@) g (Hurley)
@) & (Terry)

12. us gfR@e=r § (A project is)--
(31) wifafaf=at w1 @egg (Cluster of activities)
(@) wwer FfafRT (Single activity)
(W) 3T &t (Both of the above)
(@) s & F¥ a8 (None of the above)

13. YAF AYGT FIAIRAF JTET ... a1 g1 (Every new business opportunity is... ..).
(37) w5 (Difficult)
(@) 3mareT (Easy)
(®) srgfad (Unique)
(&) 3rwea (Impossible)

14. v 3r<dr faasr @it - (A good plan is) --
(3r) @l (Expensive)
(@) avaget (Flexible)
(&) §AF Ax arelt (Time consuming)
(&) "ot (Narrow)

15. ...... vty a9 & wegrms  #I(.....helps in taking decision).
(31) 35827 (Objective)
(¥) $&%# (Programme)
(@) Hifa=r (Policies)
(&) 38 @ I A (None of the above)

16. IRAFAT & FAR A 9 77 fFAT 7177 4= § (Money spent on the preparation a project is) -
(31) ==¥ (Expenditure)
(@) ffase (Investment)
() 3r9egT (Wastage)

(&) 3% ¥ FE gt (None of these)

17. RS ggae A ..3maTFar @it €1 (In project identification ...... is needed.)
(37) 3reg3a@ (Experience)
() Af¥asH FT 39T (Use of mind)

Page 3 of 7



(W) 3rpo7d U9 ARFasH FT 39AT Akt (Both experience and use of mind)
(&) 3% ¥ F1E gt (None of these)

18. HTgdHl....... FY FTHAT A & NT@A ISTAT 81 (Entrepreneur take risk for earning.......)
(37) T3 (Profit)

(&) BTFeY (Loss)

() TI1feY (Goodwill)

(&) 3TH ¥ FE FET (None of these)

19 wmmﬁﬁmué’rﬁmﬂwmﬂm,

(A successful entrepreneur must possess the quality of the following):
(31) F-TQHEFT (Leadership)

() fAT==0T &7 (Control)

(H) Ta9acisT T (Innovation)
(&) 5T ¥ T3 (All of these)

20. 9RIS=T FT SfaeT 9% RFafaf@d & d&fta 1€t gar § - (Project life cycle is not concerned with
the following --)
(3r) Raferaer q& =xor (Pre - investment stage)

(@) T@ATeHE® =T (Constructive stage)
() a#dEIor @Ror (Normalisation stage)
(&) Rudisor TRor (Stabilization stage)

21. s woft yewh fRamat #1....81 (Of all managerial activities planning is the . .)
(37) 9T (Beginning)
(%) 3@ (End)
(®) YRS a9T 3Ha &t (Beginning and end both)
(&) 3% ¥ FE gt (None of these)

22. @ & - (Planning is--)
(31) 3reusrells (Short term)
() \EgFrea (Middle term)
(@) @derelsT (Long term)
(&) &sfr 3rafer & faw (For all terms)

23. ...... AT ¥ I TF WG FHET B (....... is amain problem connected with business.)
(31) FaT (Money)
(@) SR (Market)
(@) SNf@H g9y (Risk management)
(@) 3T @ FE a& (None of these)

24 9o wafda =g @1t §-- (Incentives are not concerned with----)
(31) B< (Rebate)
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(@) :X @ FFT (Exemption from tax)
(@) fier gl &7 wEEE (Provision of seed capital)
(§) TEHARA HIa (Lump sum payment)

25. 3cqrg ot Afar 310+ g & 310« ....8%a &1 (The products which are more in demand are
more.....)
(31) #favg (Lossable)
() wmve (Profitable)
(@) = gifaug & @y (Neither lossable nor profitable)

(&) 38 & *§ g (None of these)

26. 9y« &1 FATS® 3aieiAca & (The social responsibility of management is) -
(31) ¥R & 9fa (towards government)

(¥ )Pae FAARAT & 9fa (towards employee only)

(@) @it & 9fa (towards all)

(&) 3% & F$ ¢ (None of these)

27. fr & ¥ Fl qataroly gaor St H wnfad #@ aren anfdF gew ¢ (Which Of the following
economic factor affecting environmental scanning---)

(31) anfd=+ R+ &1 T (Stage of economic development)
() anfd+ sfifa=wr (Economic policies)

(@) soR #ir Bufa (Market situation)

() s @ @ (All of these)

28. o7 # @ i Ruvre fAsor & ae3 @@ - (Which of the following is not an element of
marketing mix---)
(31) 3erg (Product)
(8) 7= (Price)
(#) sIgss (Customer)
(%) ¥ (Place)

29. IR HeAFa & foaw s & ¥ Fla amaea®w 8- (Which of the following things are necessary for
market assessment--)
(30 9 (Supply)
(@) wfawqut #r gwfa (Nature of competition)
(@) aFr (Demand)
(@) 3987 @sft (All of these)

30. frest & @ FleT AT 3qA B YA F AT W@ ¢ - (Which of the following is not a stage of
starting of a new venture--)

(37) URAF qd IaEAT (Pre-startup stage)

(8) 9RfA= 3raEdr (Start up stage)

() 3cug IR 39¥AT (Product market stage)
() @1g @ geftr IraEAT (Later growth stage)
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31. T & I § -- (Easy in formation is---)
(31) TFEARr MR (Sole trading)
(%) |rEie W (Partnership firm)
(W) wgFa gt F9Ar (Joint stock company)
(&) 3% & ®E A& (None of these)

32. e ferawor |@&fda § (Input analysis deals with-)
(37) fAf®ToT 3maeERad(Funding requirements)
(8) @ 3margFard(Material requirements)
(®) ## 3maegRa(Labour requirements
(&) wETEeaT TaRIFATd(Resource requirements)

33. 1 3reier ufkar # enfA« g@ § (Learning process involves):
(37) #=3TE (Cue)

(&) w=Terst (Drive)

(W) 3Ifar (Response)

(@) s |8 (All of these)

34, mﬁ"ﬁﬁﬁ'ﬂﬂmgaﬂ% (Venture capital view was origin in):

(3N) HRT # (India)

(9) 8998 # (England)
(@) 3ANFHTH (America)
() CINICE:] (Japan)

35. gRASET AR #r S § (Project is prepared)
(37) wad=i garT (By Promoters)

(9) yeeu®l garT (By Managers)

(®) 3eg#H g@rT (By Entrepreneurs)

(&) o1 weft & g@RT (By all these)

36. 3UFHA TIT & IETF dead & (Essential elements of
selection of an enterprises)

(3r) MueArgar (Secrecy)

(&) =g« far (Business Activity)
(@) gfarersr &1 819 (Area of operation)
(&) o1 wefr (All of these)

37. sgau s &1 9H{E Hgced £ (The main importance of
business planning is):

(31) fAdersraiat &t 3T wA A (in attracting investors )
(@) Ram-f&erst & (in providing guidelines)

(@) 3arae afFd v F= A (in providing leverage)
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(@) 39d#a @#ft (all of the above)

38.. A&7 & ¥ FiA-91 3TWT AT FT dcad & (Which of the following is a element of sensing the
opportunities ?)

(31) waST $r AfFT (Ability to perceive )
(8) 9Radsr 9 =X (Insight into the change)
(W) Sayad=a o1 (Innovative quality)

(&) s ¥ wsht (Al of these)

39. R aR&semst & Rrafaf@a aFafeua 7€t § (Following is not considered with quantifiable
projects)-

(31) farsrelt 3eurga (Power generation)

(&) @farsr 3eargar (Mineral production)

(@) 9RarR &egror (Family welfare)

(g) sremqfd (Water supply)

40. uRES=T g # maeds@ar gt § (In project identification is needed)-
(31) 3rep31@ (Experience)

(%) #f¥asF &1 399Rr (Use of Mind)

(W) Hq¥d vq AR¥asH FT 39AT axai (Both Experience and Use of Mind)
(&) 38 & *§ =g (None of these)
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